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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, DECEMBER 2023. 

First Semester 

PRINCIPLES OF MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 
Answer ALL questions. 

1. What is meant by organization? 
 Aø©¨¦ •øÓ £ØÔ AÔÁx GßÚ? 

2. What is management? 
 ÷©»õsø© GßÓõÀ GßÚ? 

3. What do you mean by planning? 
 vmhªkuÀ £ØÔ }Âº AÔÁx GßÚ? 

4. Write short note on leading. 
 ]Ö SÔ¨¦ ÁøμP & •ßÚo. 

5. What is controlling? 
 Pmk¨£õk GßÓõÀ GßÚ? 

6. Write a short note on organizational behavior. 
 {ÖÁÚ Aø©¨¦ |hzøu £ØÔ ]Ö SÔ¨¦ ÁøμP. 

7. What is meant by attitude? 
 ©Ú¨£õßø© £ØÔ AÔÁx GßÚ? 
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8. What is motivation? 

 ö\¯¿UP©ÎzuÀ GßÓõÀ GßÚ? 

9. Give the meaning of job satisfaction. 

 £o ©Ú{øÓÄ Gß£uß ö£õ¸Ò u¸P. 

10. What is conflict? 

 •μs£õk GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the characteristics of organization? 

   Aø©¨¤ß Snõv]¯[PÒ ¯õøÁ? 

Or 

 (b) Bring out the importance of planning. 

   vmhªku¼ß •UQ¯zxÁzøu u¸P. 

12.  (a) Explain the different types of departmentation. 

   xøÓÁõ› Aø©¨¤ß öÁÆ÷ÁÖ ÁøPPøÍ 
ÂÍUSP. 

Or 

 (b) Explain about personality traits. 

   BÐø© £s¦PøÍ £ØÔ ÂÍUSP. 

13.  (a) Discuss the various controlling techniques. 

   £À÷ÁÖ Pm£õmk ²UvPøÍ ÂÁõvUP. 

Or 

 (b) Enumerate the characteristics of leading. 

   •ßÚo°ß £s¦PøÍ ÂÁõvUP. 



D–1942 

 

  3

14.  (a) Explain the importance of motivation. 

   ö\¯¿UP©Îzu¼ß •UQ¯zxÁzøu ÂÍUSP. 

Or 

 (b) State the concept of emotions. 

   Enºa]÷ÁPzvß P¸zxPøÍ TÖP. 

15.  (a) What are the causes of conflict? 

   •μs£õmiØPõÚ Põμn[PÒ ¯õøÁ? 

Or 

 (b) Discuss the concept of culture. 

   P»õa\õμzvß P¸zxPøÍ ÂÁõvUP. 

SECTION C — (3 × 10 = 30 marks) 
Answer any THREE questions. 

16. Discuss the various functions of management. 

 ÷©»õsø©°ß £À÷ÁÖ £oPøÍ ÂÁõvUP. 

17. Analyse the controlling critical control points as feed fact 
system. 

 Pmk¨£kzxu¼ß PiÚ©õÚ `Ç¼À P¸zx ¤ß öuõhº 
•øÓø¯ ÂÍUSP. 

18. Enumerate the various controlling process. 

 Pmk¨£kzxu¼ß £À÷ÁÖ £iPøÍ ÂÁõvUP. 

19. Explain the different factors affecting the group 
behaviour. 

 SÊ |hzøuø¯ £õvUS® öÁÆ÷ÁÖ PõμoPøÍ 
ÂÍUSP. 

20. What are the characteristics of an effective team? 

 J¸ £¯ÝÒÍ SÊÂß Snõv]¯[PÒ ¯õøÁ? 

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, DECEMBER 2023. 

First Semester 

BUSINESS COMMUNICATION 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is informal communication? 

 •øÓ\õμõ uPÁÀ öuõhº¦ GßÓõÀ GßÚ? 

2. Define oral communication. 

 Áõ´ÁÈz uPÁÀ öuõhº¦ Áøμ¯ÖUPÄ®. 

3. What is principle of courtesy? 

 |ßÚ¯ uzxÁ® GßÓõÀ GßÚ? 

4. What is business letter? 

 ÁõoPU Piu® GßÓõÀ GßÚ? 

5. Define circular. 

 _ØÓÔUøP Áøμ¯ÖUPÄ®. 

6. What is multimedia? 

 £ß•P FhP® GßÓõÀ GßÚ? 
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7. What is meant by business report? 

 ÁoP AÔUøP Gß£uß ö£õ¸Ò ¯õx? 

8. Give the meaning of press report. 

 £zv›UøP AÔUøP°ß ö£õ¸Ò u¸P. 

9. What is minutes of meeting? 

 Tmh {PÌa] {μÀ GßÓõÀ GßÚ? 

10. What is board interview? 

 SÊ ÷|ºPõnÀ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) State the importance of business communication. 
   ÁoPz uPÁÀ öuõhº¤ß •UQ¯zxÁzøu TÖP. 

Or 

 (b) Explain the process of communication. 
   uPÁÀ öuõhº¤ß {ø»PøÍ ÂÍUSP. 

12.  (a) What are the merits and demerits of written 

communication? 
   GÊzx ÁÈz uPÁÀöuõhº¤ß |ßø©PÒ ©ØÖ® 

wø©PÒ ¯õøÁ? 

Or 

 (b) State the features of circular letter. 

   _ØÓÔUøP Piuzvß C¯À¦PøÍU TÖP. 



D–1943 

 

  3

13.  (a) Describe with suitable specimen the different parts 
of a business letter. 

   uS¢u Áøμ£h ©õv›°ß ‰»®, J¸ Piuzvß 
£À÷ÁÖ £õP[PøÍ ÂÁ›UPÄ®. 

Or 

 (b) What are the purposes of sales letter? 

   ÂØ£øÚU Piuzvß ÷|õUP[PÒ ¯õøÁ? 

14.  (a) Mention the guiding principles of preparation of a 
good report. 

   Kº |À» AÔUøP u¯õ›¨£vÀ ¤ß£ØÓ¨£k® 
÷Põm£õkPøÍU SÔ¨¤kP. 

Or 

 (b) State the principles of e-mail. 

   ªß Ag\¼ß ÷Põm£õkPøÍU TÖP. 

15.  (a) What are the purposes of an application letter? 

   Kº Âsn¨£U Piuzvß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) State the importance of an interview. 

   ÷|ºPõn¼ß •UQ¯zxÁzøuU TÖP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the types of communication. 

 uPÁÀ öuõhº¤ß ÁøPPøÍ ÂÍUSP. 

17. Elucidate the various essentials of a good business letter. 

 J¸ |À» Áõo£U Piuzvß £À÷ÁÖ Sn|»ßPøÍ 
GkzxøμUP. 
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18. What are the differences between a  memo and a letter? 

 ÁoP SÔ¨¤ØS®, PiuzvØSªøh÷¯ EÒÍ 
÷ÁÖ£õkPÒ ¯õøÁ? 

19. Mention the stages in the preparation of report. 

 AÔUøP u¯õ›zu¼ß {ø»PøÍU SÔ¨¤kP. 

20. Explain the types of interviews. 

 ÷|ºPõn¼ß ÁøPPøÍ ÂÍUSP. 

 

 

  

———————— 
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DISTANCE EDUCATION 

B.Com. DEGREE EXAMINATION, DECEMBER 2023. 

First Semester 

BUSINESS ENVIRONMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is political environment? 

 Aμ]¯À _ØÖa`ÇÀ GßÓõÀ GßÚ? 

2. Define economic environment. 

 ö£õ¸Íõuõμ _ØÖa`ÇÀ Áøμ¯Ö. 

3. What are the components of business environment? 

 ÁoPa `Ç¼ß TÖPÒ ¯õøÁ? 

4. What is legal environment? 

 \mh§ºÁ _ØÖa`ÇÀ GßÓõÀ GßÚ? 

5. What is mixed economy? 

 P»¨¦ ö£õ¸Íõuõμ® GßÓõÀ GßÚ? 

6. What are economic reforms? 

 ö£õ¸Íõuõμa ^ºv¸zu[PÒ GßÓõÀ GßÚ? 

Sub. Code 
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7. How is industrial policy important to a nation? 

 J¸ |õmiØS öuõÈØöPõÒøP G¨£i •UQ¯©õÚx? 

8. What is globalization? 

 E»P©¯©õUPÀ GßÓõÀ GßÚ? 

9. State the concept of social responsibility. 

 \‰P ö£õÖ¨¤ß P¸zvøÚU TÖP. 

10. What is an Indian economy? 

 C¢v¯ ö£õ¸Íõuõμ® GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) State the concept of business environment. 

   ÁoPa `Ç¼ß P¸zvøÚ TÖP. 

Or 

 (b) What are the importance of political environment? 

   Aμ]¯À _ØÖa`Ç¼ß •UQ¯zxÁ® ¯õøÁ? 

12.  (a) Mention the factors affecting Indian business 
environment. 

   C¢v¯ ÁoP `Çø» £õvUS® PõμoPøÍ 
SÔ¨¤kP. 

Or 

 (b) State the need for legal environment. 

   \mh `Ç¼ß ÷uøÁø¯ TÖP. 
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13.  (a) Mention the different components of financial 
system. 

   {v•øÓ°ß £À÷ÁÖ TÖPøÍ SÔ¨¤kP. 

Or 

 (b) What is capitalist economy?  

   •u»õÎzxÁ ö£õ¸Íõuõμ® GßÓõÀ GßÚ? 

14.  (a) What are the objectives of new economic policy? 

   ¦v¯ ö£õ¸ÍõuõμU öPõÒøP°ß ÷|õUP[PÒ 
¯õøÁ? 

Or 

 (b) Bring out the salient features of Indian 
technological policy. 

   C¢v¯ öuõÈÀ~m£ öPõÒøP°ß ]Ó¨¦ 
A®\[PøÍz u¸P. 

15.  (a) State the features of co-operative sectors. 

   TmkÓÄ {ÖÁÚzvß C¯À¦PøÍU TÖP. 

Or 

 (b) What are the importance of public sectors? 

   ö£õxzxøÓ {ÖÁÚ[PÎß •UQ¯zxÁ® ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the changing trends in social responsibilities of 
business. 

 ÁoPzvÀ \‰P ö£õÖ¨¦PÎß ©õØÓzøu ÂÍUSP. 

17. Elucidate the role of foreign direct investment. 

 A¢{¯ ÷|μi •u½miß £[QøÚ GkzxøμUP. 
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18. Explain the role of financial institutions in India. 

 C¢v¯õÂÀ {v {ÖÁÚ[PÎß £[RmiøÚ ÂÍUSP. 

19. Enumerate about industrial policy of India. 

 C¢v¯ öuõÈØ öPõÒøP £ØÔ Gkzv¯®¦P. 

20. What are the merits and demerits of private sectors? 

 uÛ¯õº xøÓ {ÖÁÚ[PÎß |ßø©PÒ ©ØÖ® wø©PÒ 
¯õøÁ? 

 

 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, DECEMBER 2023. 

First Semester 

FINANCIAL ACCOUNTING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define accounting. 

 PnUQ¯ø» Áøμ¯ÖUP. 

2. What is journal? 

 SÔ¨÷£k GßÓõÀ GßÚ? 

3. What do you understand by subsidiary books? 

 xøn HkPÒ £ØÔ }Ãº ¦›¢x öPõÒÁx GßÚ? 

4. What is meant by closing entries? 

 CÖv £vÄPÒ £ØÔ AÔÁx GßÚ? 

5. Define the term bill of exchange. 

 ©õØÖ^mk GÝ® £uzøu Áøμ¯ÖUP. 

6. What do you mean by grace days? 

 \¾øP |õÒPÒ £ØÔ }Ãº AÔÁx GßÚ? 

Sub. Code 
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7. What is revaluation account? 

 ©Ö©v¨¥k PnUS GßÓõÀ GßÚ? 

8. What is joint life policy? 

 B²Ò Põ¨¥mk £õ¼] GßÓõÀ GßÚ? 

9. What is depreciation? 

 ÷u´©õÚ® GßÓõÀ GßÚ? 

10. What is forfeiture of shares? 

 £[S JÖ¨¤øÇ¨¦ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain various accounting convention. 

   £À÷ÁÖ ÁøP¯õÚ PnUQ¯À ö£õxU P¸zxUPøÍ 
ÂÁ›UP. 

Or 

 (b) Enter the following transactions in the books of 
Thiru. Ganesan. 

  Rs. 

2017 Jan. 1 Started business with the capital of 25,000

2 Deposited into bank 23,500

3 Purchased furniture by issuing cheque 2,000

4 Cash purchases 5,000

5 Sold goods to Ramu 150

6 Goods worth Rs. 250 taken from the shop for 
personal use 
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   ¤ßÁ¸® |hÁiUøPPøÍ v¸. P÷n\ß Gß£Á›ß 
HkPÎÀ £vP. 

  ¹. 

2017 áÚÁ›   1 ‰»uÚzxhß Â¯õ£õμ® 
öuõh[Q¯x 25,000

2 Á[Q°À ö\¾zv¯x 23,500

3 Põ÷\õø» Âkzx AøÓP»ß 
Áõ[Q¯x 

2,000

4 öμõUP öPõÒ•uÀ 5,000

5 μõ•ÂØS ÂØÓ \μUS 150

6 ö\õ¢u £¯ÝUPõP Pøh°¼¸¢x 
Gkzu \μUQß ©v¨¦ 

250

12. (a) Rectify the following errors : 

  (i) Purchase book is overcast by Rs. 1500 

  (ii) Sales book has been under cast by Rs. 1300 

  (iii) Purchase return book has been overcast by  
Rs. 150 

  (iv) Sales return book has been under cast by  
Rs. 175. 

  ¤ßÁ¸® ¤øÇPøÍ v¸zxP : 

  (i) öPõÒ•uÀ HhõÚx ¹. 1500 AvP©õP 
Tmh¨£mkÒÍx 

  (ii) ÂØ£øÚ HhõÚx ¹. 1300 SøÓÁõP 
Põmh¨£mkÒÍx 

  (iii) öPõÒ•uÀ v¸¨£ Hk ¹. 150 AvP©õP 
Tmh¨£mkÒÍx 

  (iv) ÂØ£øÚ v¸¨£ Hk ¹. 175 SøÓÁõP 
Tmh¨£mkÒÍx. 

Or 
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 (b) Prepare trading account of Mr. Rajesh for the year 
ending 31st March 2015. 

 Rs.  Rs. 

Stock of goods on 01.04.2014 25,000 Cash sales 51,000

Stock of goods on 31.03.2015 47,500 Credit sales 1,15,000

Cash purchases 37,000 Returns to suppliers 2,500

Credit purchases 82,500 Returns by customers 2,500

   ©õºa 31, 2015CÀ •iÁøh²® v¸. μõ÷áè 
Gß£Á›ß Â¯õ£õμ PnUøP u¯õ›UP. 

 ¹.  ¹. 

01.04.2014 AßøÓ¯ \μUQ¸¨¦ 25,000 öμõUP ÂØ£øÚ 51,000

31.03.2015 AßøÓ¯ \μUQ¸¨¦ 47,500 Phß ÂØ£øÚ 1,15,000

öμõUP öPõÒ•uÀ 37,000 \μUPÎzuÁ¸US v¸¨¤¯x 2,500

Phß öPõÒ•uÀ 82,500 ÁõiUøP¯õÍμõÀ v¸¨¤¯x 2,500

13. (a) From the following particulars prepare a bank 
reconciliation statement showing the balance as per 
cash book on 31.03.2014. 

 Rs. 

Balances as per pass book 8,000

Cheque deposited but not credited by the bank 1,000

Cheque deposited into bank without recording 
in the cash book 600

Cheque issued but not presented for payment 500

Bank charges debited in the pass book but not 
recorded in cash book 50

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 31.03.2014 |õÍßøÓ¯ 
öμõUP Hmiß £i C¸¨ø£ Põmk® Á[Q \›Pmk® 
£mi¯ø»z u¯õ›UP. 

 ¹. 

ö\À÷»miß £i C¸¨¦ 8,000
Põ÷\õø» ö\¾zv²® Á[Q¯õÀ ÁμÄ øÁUP¨£hõuøÁ 1,000
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öμõUP HmiÀ £vÄ ö\´¯õ©À Á[Q°À ö\»zv¯ Põ÷\õø» 600
Põ÷\õø» Âkzx® Á[Q°À £n©õUP \©º¤UP¨£hõuøÁ 500
ö\À÷»miÀ £ØÖ øÁUP¨£mk öμõUP HmiÀ £vÄ ö£Óõu 
Á[Q Pmhn® 

50

Or 

 (b) Mr.Ravi draws a bill for Rs. 2,000 on Mr. Gopal on 
15th September for three months. On maturity, 
Gopal failed to honour the bill. Pass the journal 
entries in the books of Ravi and Gopal, if he had 
retained the bill with him till maturity. 

   ö\¨h®£º 15 AßÖ ‰ßÖ ©õuPõ»zvØS v¸. 
÷Põ£õÀ «x v¸. μÂ Gß£Áº ¹. 2,000 ö£Ö©õÚ 
J¸ ©õØÖa^møh GÊvÚõº. •vºÄ ÷uv°À A¢u 
©õØÖa^møh ÷Põ£õÀ ©vUP uÁÔÚõº. •vºÄ ÷uv 
Áøμ ©õØÖa^møh μÂ øÁzv¸UQÓõº GÛÀ μÂ 
©ØÖ® ÷Põ£õ¼ß HkPÎÀ SÔ¨÷£mk £vÄPøÍ 
u¸P. 

14. (a) K and S share profits and losses in the ratio 5 : 3,  
M joins on 1st April 2015. The following revaluations 
were made. 

  (i) Increase the value of building by Rs. 10,000 
  (ii) Raise goodwill for Rs. 16,000 
  (iii) Reduce the value of debtors by Rs. 2,000. 
   Prepare Revaluation account. 
  K ©ØÖ® S C¸Á¸® 5 : 3 GßÓ ÂQuzvÀ C»õ£ 

|mh[PøÍ ¤›zxU öPõÒQßÓÚº. 2015 H¨μÀ 1® 
|õÒ M ÷\ºQÓõº. A¨÷£õx ¤ßÁ¸® ©Ö©v¨¥kPÒ 
ö\´¯¨£kQßÓÚº. 

  (i) Pmih ©v¨ø£ ¹. 10,000US E¯ºzxÁx 
  (ii) |ß©v¨¦ ¹. 16,000US HØ£kzxÁx 
  (iii) PhÚõÎPÒ ©v¨ø£ ¹. 2,000 SøÓ¨£x. 
   ©Ö©v¨¥mkU PnUøP u¯õ›UP. 

Or 
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 (b) Explain the various methods of treating goodwill on 
the retirement of a partner. 

   J¸ TmhõÎ Â»S® ÷£õx |Øö£¯øμ ©v¨¤k® 
£À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

15. (a) A company issued 10,000 shares of Rs. 10 each. 
12,000 applications were received and allotment 
was made under pro-rata. Application money was 
Rs. 2 per share and allotment money Rs. 3 per 
share. Mani failed to pay the allotment money on 
his 300 shares. How much is due from Mani? 

   J¸ {Ö©® 10,000 £[SPøÍ JßÖ ¹£õ´ 10 Ãu® 
öÁÎ°mhx. Ax 12,000 Âsn¨£zøu ö£ØÖ 
ÂQuõa\õμ •øÓ°À JxURk ö\´ux. Âsn¨£ 
£n® £[S JßÖUS ¹. 2® JxURk £n® £[S 
JßÖUS ¹. 3® BS®. ©o Gß£Áº ußÝøh¯ 
300 £[SPÐUS JxURmk £nzøu ö\¾zu 
uÁÔÂmhõº. ©o°h® C¸¢x Áμ÷Ási¯ öuõøP 
GÆÁÍÄ? 

Or 

 (b) What entries can be made for following redemptions 
made by the company? 

  (i) X Ltd redeemed Rs. 1,00,000 preference 
shares by converting them into equity shares 
of Rs. 10 each issued at 25% premium. 

  (ii) X Ltd redeemed Rs. 95,000  preference shares 
by converting them into equity shares of  
Rs. 10 each issued at 5% discount. 

  J¸ P®ö£Û¯õÀ «mP¨£mh ¤ßÁ¸® £[SPÐUS 
GzuøP¯ £vÄPøÍ ÷©ØöPõÒÁõ´? 

  (i) X {Ö©® ¹. 1,00,000 •ßÝ›ø© £[SPøÍ 
¹. 10 Ãu® 25% •øÚ©zvÀ ö£õx{ø» 
£[SPÍõP ©õØÔ¯x. 

  (ii) X {Ö©® ¹. 95,000 •ßÝ›ø© £[SPøÍ  
¹. 10 Ãu® 5% uÒÐ£i°À ö£õx{ø» 
£[SPÍõP ©õØÔ¯x. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. State the differences between book keeping and 
accounting. 

 PnUS øÁ¨¤ØUS®, PnUQ¯¾US® Cøh÷¯ EÒÍ 
÷ÁÖ£õmøhU TÖP. 

17. From the following trial balance and adjustment of Thiru. 
Gokulnath prepare his final accounts as on 31.12.2016. 

Particulars Rs. Particulars Rs. 

Opening stock 20,000 Capital 1,00,000

Machinery 40,000 Purchase returns 1,000

Purchases 70,000 Sales 90,000

Sales returns 1,000 Creditors 29,000

Wages 2,000  

Salaries 5,000  

Office rent 2,000  

Insurance 1,000  

Debtors 50,000  

Cash 4,000  

Bank 25,000  

 2,20,000  2,20,000

 Adjustments : 

 (a) Closing stock is valued at Rs. 20,000  

 (b) Outstanding salaries Rs. 1,000 

 (c) Prepaid insurance Rs. 500 

 (d) Bad debts Rs. 1,000 

 (e) Provide 10% depreciation on machinery. 
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 v¸. ÷PõSÀ |õz Gß£Á›ß ¤ßÁ¸® C¸¨¦ ÷\õuøÚ 
©ØÖ® \›Pmkuø» öPõsk AÁ¸øh¯ CÖvPnUøP 
31.12.2016 AßÖ u¯õ›UPÄ®. 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

öuõhUP \μUQ¸¨¦ 20,000 •uÀ 1,00,000

C¯¢vμ® 40,000 öPõÒ•uÀ v¸¨£® 1,000

öPõÒ•uÀ 70,000 ÂØ£øÚ 90,000

ÂØ£øÚ v¸¨£® 1,000 PhÜ¢÷uõºPÒ 29,000

T¼ 2,000  

\®£Í® 5,000  

A¾Á»P ÁõhøP 2,000  

Põ¨¥k 1,000  

PhÚõÎPÒ 50,000  

öμõUP® 4,000  

Á[Q 25,000  

 2,20,000  2,20,000

 \›PmkuÀPÒ : 

 (A) CÖv \μUQ¸¨£õÚx ¹. 20,000 GÚ ©v¨¤h¨£mhx 

 (B) öPõk£h ÷Ási¯ \®£Í® ¹. 1,000 

 (C) •ßTmi ö\¾zv¯ Põ¨¥k ¹. 500 

 (D) ÁõμõUPhß ¹. 1,000 

 (E) C¯¢vμzvß «x 10% ÷u´©õÚ® E¸ÁõUSP. 

18. Mr. Ram draw a bill for Rs. 15,000 on Mr. Gopal on 1st 
January payable three months after date at Canara 
bank, Tirunelveli. The bill after acceptance is discounted 
by Ram at 6% p.a. and he remits 1/3 of the proceeds to 
Gopal. On the due date Ram sends the necessary amount 
to Gopal who meets the bill. Record these transactions in 
the journal of both the parties. 
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 áÚÁ› 1&® ÷uv¯ßÖ ‰ßÖ ©õu[PÒ PÈzx 
v¸ö|À÷Á¼°¾ÒÍ PÚμõ Á[Q°À ö\¾zuuUP 
ÁøP°À ¹. 15,000 ©v¨¦ÒÍ ©õØÖa^møh v¸. ÷Põ£õÀ 
«x v¸. μõ® Gß£Áº GÊvÚõº. ¤ßÚº A¢u 
©õØÖa^møh HØÓ ¤ÓS Bsk JßÖUS 6% uÒÐ£i°À 
Á[Q°À μõ® Gß£Áº Ámh® ö\´uõº. ¤ßÚº AvÀ 1/3 
£[øP ÷Põ£õ¾US ö\¾zvÚõº. •vºÄ |õÎ» ÷Põ£õÀ 
Gß£Áº ©õØÖa^møh GvºöPõÒÐ® ö£õ¸mk v¸. μõ® 
Gß£Áº ÷£õx©õÚ öuõøPø¯ AÝ¨¤Úõº. CÁ¸øh¯ 
SÔ¨÷£mi¾® C¢u |hÁiUøPPøÍ £vÄ ö\´P. 

19. P, Q and R share profits in the ratio of 3 : 2 : 2. On 30th 
April 2015 ‘R’ died. Their balance sheet on 31st December 
2014 was as follows : 

Liabilities Rs. Assets Rs. 

Creditors 12,900 Cash and bank 5,000

General reserve 5,200 Debtors 10,000

Reserve for doubtful debts 800 Stock 10,000

Capital :  Investments 5,000

 Prince 30,000 Building 40,000

 Queen  20,000 Goodwill 18,900

 Raja 20,000  

 88,900  88,900

 On the date of death it was found that : 
 (a) Building be valued at Rs. 58,000; investment at  

Rs. 4,700; stock Rs. 9,400.  
 (b) Goodwill be valued at one year’s purchase of the 

average profits of the past five years. 
 (c) R’s profit to the date of death be calculated on the 

basis of the average profits of the preceding three 
years. The profits of the last five years were : 2010 – 
Rs. 11,500; 2011 – Rs. 14,000; 2012 – Rs. 9,000; 
2013 – Rs. 8,000; 2014 – Rs. 10,000.  

  Prepare R’s account and  show the new balance 
sheet. 
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 P, Q ©ØÖ® R BQ¯ ‰Á¸® 3 : 2 : 2 GÝ® ÂQuzvÀ 
C»õ£zøu £Qº¢x öPõÒQßÓõº. 30, H¨μÀ 2015 AßÖ R 
C¯ØøP G´vÚõº. AÁºPÍx 31, i\®£º 2014 AßøÓ¯ 
C¸¨¦{ø»USÔ¨¦ ¤ßÁ¸©õÖ.  
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõºPÒ 12,900 öμõUP® ©ØÖ® Á[Q 5,000
ö£õxPõ¨¦ 5,200 PhÚõÎPÒ 10,000
Áõμõ I¯UPhß JxUS 800 \μUQ¸¨¦ 10,000
•uÀ :  •u½kPÒ 5,000
 P 30,000 Pmih® 40,000
 Q  20,000 |Øö£¯º 18,900
 R 20,000  
 88,900  88,900

 R CÓ¢u ÷uv°À ¤ßÁ¸£ÁÚ öu›¯ Á¢ux : 

 (A) Pmih©õÚx ¹. 58,000US®, •u½kPÍõÚx  
¹. 4,700US® \μUQ¸¨£Úõx ¹. 9,400US® 
©v¨¥h¨£mhx. 

 (B) |Øö£¯μõÚx Ph¢u 5 BskPÎß \μõ\› C»õ£zvÀ 
Kº Bsk öPõÒ•uÀ GßÓ Ai¨£øh°À 
©v¨¥h¨£mhx. 

 (C) CÓ¢u ÷uv°À R ß C»õ£® Ph¢u ‰ßÖ 
BskPÎß \μõ\› C»õ£zvÀ ©v¨¥h¨£mhx. 
Ph¢u I¢x BskPÎß C»õ£©õÚx. 2010 –  
¹. 11,500, 2011 – ¹. 14,000, 2012 – ¹. 9,000, 
2013 – ¹. 8,000, 2014 – ¹. 10,000. 

  Rß PnUøP u¯õº ö\´x ¦v¯ C¸¨¦{ø»U 
SÔ¨ø£ PõmkP. 

20. On 1st January, 2013, a machinery was purchased by  
Mr. X for the Rs. 50,000. On 1st July 2014 additions were 
made to the extent of Rs. 30,000. On 1st April, 2015, 
further additions were made to the extent of Rs. 6,400. 

 On 30th June 2014 machinery, original value of which 
was Rs. 8,000 on 1st January, 2013 was sold for Rs. 6,000. 
Depreciation is charged at 10% p.a. on written down 
value method.  

 Show the machinery account for the three years in the 
books of Mr. X. He closed his book on 31st December. 
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 01.01.2013 AßÖ J¸ C¯¢vμzøu v¸. X Gß£Áº  
¹. 50,000 Áõ[QÚõº. 01.07.2014 AßÖ ¹. 30,000US 
Tku»õP C¯¢vμ® Áõ[QÚõº. 01.04.2015 AßÖ ÷©¾® 
¹. 6,400US C¯¢vμ•® Áõ[QÚõº. 

 30.06.2014 AßÖ 01.01.2013 AßÖ Áõ[Q¯ C¯¢vμzvÀ 
¹. 8,000 ©v¨¦ÒÍøu ¹. 6,000US ÂØ£øÚ ö\´uõº. 
SøÓ¢x ö\À ©v¨¦ •øÓ°À Bsk JßÖUS 10% 
÷u´©õÚ® E¸ÁõUP ÷Ásk®. 

 v¸. X Gß£Á›ß HkPÎÀ ‰ßÖ BskPÐUPõÚ 
C¯¢vμ PnUøP PõmkP. AÁº JÆöÁõ¸ Bsk® 
i\®£º ©õu® 31® ÷uv PnUSPøÍ •iUQÓõº. 

 

 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, DECEMBER 2023. 

Second Semester 

FINANCIAL MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is meant by profit maximization? 

 C»õ£zøu AvP¨£kzxuø» £ØÔ AÔÁx GßÚ? 

2. List out the various types of budget. 

 £möámiß £À÷ÁÖ ÁøPPøÍ £mi¯¼kP. 

3. What are the concepts of time value of money? 

 £n ÷|μ ©v¨¤ß P¸zxUPÒ ¯õøÁ? 

4. What is WACC? 

 WACC GßÓõÀ GßÚ? 

5. What do you understand by ROE? 

 ROE £ØÔ }Ãº AÔÁx GßÚ? 

6. What is equity capital? 

 £[S ‰»uÚ® GßÓõÀ GßÚ? 
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7. What are the different types of asset finance? 

 ö\õzx {v°ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

8. What are the disadvantages of short term financing? 

 SÖQ¯ Põ» {v²uÂ°ß wø©PÒ ¯õøÁ? 

9. State the objectives of cash management. 

 £n ÷©»õsø©°ß ÷|õUP[PøÍ TÖP. 

10. What is average collection period? How it is determined? 

 \μõ\› Á`À Põ»® GßÓõÀ GßÚ? AøÁ G¨£i 
wº©õÛUP¨£kQÓx? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the goals of financial management? 
Explain them. 

   {v ÷©»õsø©°ß C»USPÒ ¯õøÁ? AÁØøÓ 
ÂÍUSP. 

Or 

 (b) What is discounting method? Under what 
circumstances it is applicable. 

   uÒÐ£i •øÓ GßÓõÀ GßÚ? G¢u `Ì{ø»°À 
Cx ö£õ¸¢x®? 

12.  (a) Enumerate the important function of finance. 

   {v°ß •UQ¯©õÚ ö\¯À£õmøh GkzxøμUP. 

Or 

 (b) What is cost of capital? Explain the various methods 
of cost of capital. 

   ‰»uÚ ö\»Ä GßÚ? ‰»uÚa ö\»ÄUPõÚ £À÷ÁÖ 
•øÓPøÍ ÂÍUSP. 
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13.  (a) Compare and contrast equity capital with debt. 

   \õuõμn ‰»uÚzøu PhÝhß J¨¤mk GÊxP. 

Or 

 (b) Illustrate the process of capital budgeting. 

   ‰»uÚ ÁμÄö\»Äzvmh ö\¯À•øÓø¯ ÂÍUSP. 

14.  (a) Narrate the sources and uses of short-term finance. 

   SÖQ¯ Põ» {vPÎß Buõμ® ©ØÖ® £¯ß£õkPøÍ 
ÂÁ›UP. 

Or 

 (b) Examine the various factors determining divided 
policy. 

   £[Põu¯ öPõÒøPø¯ wº©õÛUS® £À÷ÁÖ 
PõμoPøÍ Bμõ´P. 

15.  (a) What is credit policy? Explain the various element 
of credit policy. 

   Phß öPõÒøP GßÓõÀ GßÚ? Phß öPõÒøP°ß 
£À÷ÁÖ TÖPøÍ ÂÍUSP. 

Or 

 (b) Describe the principal motives for holding cash in 
an organization. 

   J¸ {ÖÁÚzvÀ £nzøu uUP øÁzv¸¨£uØPõÚ 
•UQ¯ ÷|õUP[PøÍ ÂÁ›UP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the scope and function of finance manager in an 
organization. 

 J¸ {ÖÁÚzvÀ {v ÷©»õÍ›ß ÷|õUP® ©ØÖ® 
ö\¯À£õmøh ÂÍUSP. 
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17. Explain the various theories of capital structure. 

 ‰»uÚ Pmhø©¨¤ß £À÷ÁÖ ÷Põm£õkPøÍ ÂÍUSP. 

18. Elaborate the different types of leverage. 

 ö|®¦÷Põ¼ß öÁÆ÷ÁÖ ÁøPPøÍ ÂÍUSP. 

19. Explain the various sources of long term finance. 

 }sh Põ» {v Buõμ[PøÍ vμmk® £À÷ÁÖ ÁÈPøÍ 
ÂÍUSP. 

20. Discuss the various methods of cash forecasting. 

 £n •ßPo¨¤ß £À÷ÁÖ •øÓPøÍ¨ £ØÔ ÂÁõvUP. 

 

 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, DECEMBER 2023. 

Second Semester 

HUMAN RESOURCE MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. State the objectives of Human Resource Management. 

 ©Ûu ÁÍ ÷©»õsø©°ß ÷|õUP[PøÍU TÖP. 

2. Give the meaning of personnel management with 
examples. 

 £o¯õÍº ÷©»õsø©°ß ö£õ¸øÍ 
GkzxUPõmkPÐhß u¸P. 

3. What are the factors affecting job design? 

 ÷Áø» ÁiÁø©¨ø£ £õvUS® PõμoPÒ ¯õøÁ? 

4. Why is training important in an organization? 

 J¸ {ÖÁÚzvÀ £°Ø] Hß •UQ¯©õÚuõS®? 

5. What are the needs for induction? 

 ysh¾UPõÚ ÷uøÁPÒ ¯õøÁ? 

6. What is recruitment? 

 Bm÷\º¨¦ GßÓõÀ GßÚ? 

Sub. Code 
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7. What are the two theories of wages? 

 Fv¯zvß Cμsk ÷Põm£õkPÒ ¯õøÁ? 

8. What are the benefits of performance appraisal? 

 ö\¯ÀvÓß ©v¨¥miß |ßø©PÒ ¯õøÁ? 

9. How do you maintain discipline in the workplace? 

 £o°hzvÀ }[PÒ GÆÁõÖ JÊUPzøuU 
Pøh¨¤iUQÕºPÒ? 

10. What do you mean by employee counselling? 

 £o¯õÍº B÷»õ\øÚ £ØÔ }Âº AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Describe the elements and importance of job 
analysis. 

   ÷Áø» £S¨£õ´Âß TÖPÒ ©ØÖ® 
•UQ¯zxÁzøu ÂÁ›UP. 

Or 

 (b) Enumerate the important functions of HRM. 

   HRM ß •UQ¯©õÚ ö\¯À£õkPøÍ £mi¯¼kP. 

12.  (a) Distinguish personnel management from HRM. 

   HRM C¼¸¢x £o¯õÍº ÷©»õsø©ø¯ 
÷ÁÖ£kzxP. 

Or 

 (b) Identify the various factors affecting recruitment. 

   Bm÷\º¨ø£ £õvUS® £À÷ÁÖ PõμoPøÍ 
Aøh¯õÍ® PõsP. 
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13.  (a) Indicate the obstacle of employee induction training. 
   £o¯õÍº yshÀ £°Ø]°ß uøhø¯U SÔ¨¤kP. 

Or 

 (b) Point out the importance of training in an 
organization. 

   J¸ {ÖÁÚzvÀ £°Ø]°ß •UQ¯zxÁzøu 
_miUPõmkP. 

14.  (a) Explain the different types of incentive payments in 
detail. 

   FUPz öuõøP°ß £À÷ÁÖ ÁøPPøÍ Â›ÁõP 
ÂÍUSP. 

Or 

 (b) Delineate the major problems in performance 
appraisal. 

   ö\¯ÀvÓß ©v¨¥miÀ EÒÍ •UQ¯ ]UPÀPøÍ 
Áøμ¯Ä®. 

15.  (a) Describe the nature and objectives of employee 
relations. 

   £o¯õÍº EÓÂß ußø© ©ØÖ® ÷|õUP[PøÍ 
ÂÁ›UP. 

Or 

 (b) Specify the role of employee empowerment in the 
global scenario. 

   E»PÍõÂ¯ `Ì{ø»°À £o¯õÍº 
AvPõμ©Îzu¼ß £[øPU SÔ¨¤kP. 

SECTION C — (3 × 10 = 30 marks) 
Answer any THREE questions. 

16. Elaborate on the process of HRP and also explain various 
factors influencing HRP. 

 HRP °ß ö\¯À•øÓø¯ Â›ÁõP TÖP ©ØÖ® HRP I 
£õvUS® £À÷ÁÖ PõμoPøÍ²® ÂÍUSP. 
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17. Examine the selection procedures of an organization and 
list out barrier to selection. 

 J¸ {ÖÁÚzvß BÒ÷uº¢öukUS® |øh•øÓPøÍ 
B´Ä ö\´x AuÝøh¯ uøhPøÍ £mi¯¼kP. 

18. Infer training. Assess the various types of ‘on-the-job and 
off-the-job’ training methods. 

 £°Ø]ø¯ £ØÔ TÖP. £À÷ÁÖ ÁøP¯õÚ £oUS 
EÒ÷Í²ÒÍ ©ØÖ® £oUS öÁÎ÷¯¯õÚ £°Ø] 
•øÓPøÍ ©v¨¤kP. 

19. Describe the nature and significance of wage and salary 
administration. 

 Fv¯® ©ØÖ® \®£Í {ºÁõPzvß ußø© ©ØÖ® 
•UQ¯zxÁzøu ÂÁ›UP. 

20. Explain the various steps of the employee empowerment 
process in organization. 

 {ÖÁÚzvÀ £o¯õÍº AvPõμ©ÎUS® ö\¯À•øÓ°ß 
£À÷ÁÖ £iPøÍ ÂÍUSP. 

 

 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, DECEMBER 2023. 

Second Semester 

MARKETING MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define the term market. 

 \¢øu GÝ® £uzøu Áøμ¯ÖUP. 

2. What is meant by origin of marketing? 

 \¢øu¨£kzxu¼ß ÷uõØÓ® £ØÔ AÔÁx GßÚ? 

3. Write a short note on PEST analysis. 

 PEST £S¨£õ´Ä £ØÔ ]ÖSÔ¨¦ ÁøμP. 

4. What is meant by product life cycle? 

 ö£õ¸Ò B²Ò _ÇØ] £ØÔ AÔÁx GßÚ? 

5. What is marketing plan? 

 \¢øu¨£kzxuÀ vmh® GßÓõÀ GßÚ? 

6. What is meant by brand equity? 

 ÁoP SÔ±mk \©{ø» GßÓõÀ GßÚ? 
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7. Write a short note on online marketing. 

 Cøn¯ÁÈ \¢øu¨£kzxuÀ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

8. What is sales promotion decision? 

 ÂØ£øÚ FUSÂ¨¦ •iÄPÒ GßÓõÀ GßÚ? 

9. Define the term of E-commerce. 

 ªsÚq ÁoP® GÝ® £uzøu Áøμ¯ÖUP. 

10. What is meant by green marketing? 

 £_ø© \¢øu¨£kzxuÀ £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are differences between marketing and 
selling? 

   \¢øu¨£kzxuÀ ©ØÖ® ÂØ£øÚUS Cøh÷¯²ÒÍ 
Âzv¯õ\[PÒ ¯õøÁ? 

Or 

 (b) Explain the various modern marketing concepts. 

   £À÷ÁÖ |ÃÚ \¢øu¨£kzxu¼ß P¸zøu ÂÍUSP. 

12.  (a) State the importance of marketing mix in 
marketing decision. 

   \¢øu¨£kzxu¼ß •iÂÀ \¢øu¨£kzxuÀ 
P»øÁ°ß •UQ¯zxÁzøu SÔ¨¤kP. 

Or 

 (b) What are the different types of marketing plan? 

   £À÷ÁÖ ÁøP¯õÚ \¢øu¨£kzxuÀ vmh[PÒ 
¯õøÁ? 
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13.  (a) What are the elements of product mix? 

   ö£õ¸Ò P»øÁ°ß TÖPÒ ¯õøÁ? 

Or 

 (b) Explain the various types of brands. 

   ÁoPSÔ±miß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

14.  (a) What are the functions of channel members? 

   ÁÇ[PÀÁÈ EÖ¨¤ÚºPÎß ö\¯À£õkPÒ ¯õøÁ? 

Or 

 (b) Explain the procedures for online marketing. 

   Cøn¯ÁÈ \¢øu¨£kzxu¼ß Âv•øÓPøÍ 
ÂÍUSP. 

15.  (a) State the benefits of market segmentation. 

   \¢øu£S¨¤ß |ßø©PøÍU TÓÄ®. 

Or 

 (b) What are the characteristics of services? 

   ÷\øÁPÎß Snõv]¯[PÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. State the impact of marketing concepts and its 
applicability. 

 \¢øu¨£kzxuÀ P¸zvß uõUP® ©ØÖ® Auß 
ö£õ¸¢uUTi¯ ußø©ø¯U SÔ¨¤kP. 

17. What are the merits and demerits of branding? 

 ÁoPSÔ±miß |ßø©PÒ ©ØÖ® wø©PÒ ¯õøÁ? 
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18. Explain the various factors influencing of channel 
decision. 

 ÁÇ[PÀÁÈ •iøÁ £õvUS® £À÷ÁÖ PõμoPøÍ 
ÂÍUSP. 

19. Describe the various factors influencing buying behavior. 

 Áõ[S® ©Ú¨£õßø©ø¯ wº©õÛUS® £À÷ÁÖ 
PõμoPøÍ ÂÁ›UP. 

20. Discuss the recent trends in marketing. 

 \¢øu¨£kzxu¼ß \«£zv¯ ÷£õUSPøÍ ÂÁõvUP. 

 

 

  

———————— 
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DISTANCE EDUCATION 

B.Com. DEGREE EXAMINATION, DECEMBER 2023. 

Second Semester 

MERCANTILE LAW 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define contract. 

 J¨£¢uzøu Áøμ¯ÖUP. 

2. Write a short note on agent. 

 •PÁº £ØÔ ]Ö SÔ¨¦ ÁøμP. 

3. What is meant by warranties? 

 EzvμÁõu® £ØÔ AÔÁx GßÚ? 

4. Write a short note on partnership deed. 

 Tmhõsø© £zvμ® £ØÔ¯ ]Ö SÔ¨¦ ÁøμP. 

5. What is share capital? 

 £[S •uÀ GßÓõÀ GßÚ? 

6. Write a short note on meetings. 

 Tmh[PøÍ¨ £ØÔ ]Ö SÔ¨¦ ÁøμP. 
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7. State the definition of Environment Protection Act 1986. 

 _ØÖa`ÇÀ £õxPõ¨¦a \mh® 1986ß Áøμ¯øÓø¯U 
SÔ¨¤hÄ®. 

8. What is meant by trade mark? 

 ÁoP SÔ±kPÒ £ØÔ AÔÁx GßÚ? 

9. What is digital signature? 

 iâmhÀ øPö¯õ¨£® GßÓõÀ GßÚ? 

10. What is credit policy? 

 Phß öPõÒøP GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) State the modes of discharge of a contract. 

   J¨£¢uzøu {øÓ÷ÁØÖ® •øÓPøÍ¨ £ØÔ 
SÔ¨¤hÄ®. 

Or 

 (b) What are the principles of agent? 

   •PÁ›ß öPõÒøPPÒ ¯õøÁ? 

12.  (a) What are the rights and duties of buyer? 

   Áõ[S£Á›ß E›ø©PÒ ©ØÖ® Phø©PÒ ¯õøÁ? 

Or 

 (b) What are the advantages of partnership? 

   Tmhõsø©°ß |ßø©PÒ ¯õøÁ? 

13.  (a) State the procedure for incorporation of a company. 

   J¸ {Ö©® TmkÖÁõUP® ö£ÖÁuØPõÚ 
|øh•øÓø¯U SÔ¨¤hÄ®. 

Or 
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 (b) Explain the administrative control of national 
commission. 

   ÷u]¯ Bøn¯zvß {ºÁõPU Pmk¨£õmøh 
ÂÍUSP. 

14.  (a) What are the power of central government under 
environment protection Act 1986? 

   _ØÖa`ÇÀ £õxPõ¨¦ \mh® 1986ß RÌ ©zv¯ 
Aμ]ß AvPõμ[PÒ ¯õøÁ? 

Or 

 (b) State the amendments of WTO agreements. 

   WTO Ehß£iUøP°ß v¸zu[PøÍU SÔ¨¤hÄ®. 

15.  (a) What are the penalties for offences under cyber law? 

   ø\£º \mhzvß RÌ SØÓzvØPõÚ ushøÚPÒ 
¯õøÁ? 

Or 

 (b) State the silent features of micro, small and 
medium enterprises Act. 

   SÖ, ]Ö ©ØÖ® |kzuμ {ÖÁÚ[PÒ \mhzvß 
•UQ¯ A®\[PøÍU TÓÄ®. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. What are the types of contracts? 

 J¨£¢uzvß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

17. Examine the purpose of the negotiable instrument Act. 

 ©õØÖ•øÓ BÁn \mhzvß ÷|õUP[PøÍ Bμõ´P. 

18. Explain the consumer protection council. 

 ~Pº÷Áõº £õxPõ¨¦ \ø£ø¯ £ØÔ ÂÍUSP. 
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19. What are the salient features of competition Act 2002? 

 ÷£õmia \mh® 2002Cß •UQ¯ A®\[PÒ ¯õøÁ? 

20. Explain the classification of micro, small and medium 
enterprises. 

 SÖ, ]Ö ©ØÖ® |kzuμ {ÖÁÚ[PÎß ÁøP¨£õkPøÍ 
ÂÍUSP. 

 

 

  

———————— 
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DISTANCE EDUCATION 

B.Com./B.Com.(Lateral Entry) DEGREE EXAMINATION, 
DECEMBER 2023. 

Third Semester 

E-COMMERCE 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is the difference between B2B and B2C  
e-commerce? 

 B2B ©ØÖ® B2C ªß ÁoP® Cøh÷¯ EÒÍ ÷ÁÖ£õk 
GßÚ? 

2. What is meant by website communication? 

 Cøn¯uÍ uPÁÀöuõhº¦ £ØÔ AÔÁx GßÚ? 

3. State any two advantages of portal. 

 Cøn¯ÁÈ°ß H÷uÝ® Cμsk |ßø©PøÍ u¸P. 

4. What are the features of SMTP? 

 SMTP&ß C¯À¦PÒ ¯õøÁ? 

5. What is data warehousing? 

 uμÄU Qh[S GßÓõÀ GßÚ? 

Sub. Code 
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6. Mention the limitations of traditional marketing. 

 £õμ®£›¯ \¢øu¨£kzu¼ß SøÓ£õkPøÍ SÔ¨¤kP. 

7. What is the need of e-payment security? 

 ªß ö\¾zuÀ £õxPõ¨¤ß AÁ]¯® GßÚ? 

8. What is meant by mobile computing architecture? 

 øP÷£] PozuÀ Pmhø©¨¦ £ØÔ AÔÁx GßÚ? 

9. What are the wireless networks? 

 P®¤¯ØÓ Áø»¯ø©¨¦PÒ Gß£Ú ¯õøÁ? 

10. What is meant by bidding process? 

 H» ö\¯À•øÓ £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) State the functions of E-commerce. 

   ªß ÁoPzvß £oPøÍ SÔ¨¤kP. 

Or 

 (b) Briefly explain the main components of internet. 

   Cøn¯zvß •UQ¯ TÖPøÍ _¸UP©õP ÂÍUSP. 

12.  (a) List out the steps in creating a webpage. 

   Áø»¨£UPzøu E¸ÁõUSÁuØPõÚ £iPøÍ 
£mi¯¼kP. 

Or 

 (b) Explain the functions of data link layer. 

   uμÄ Cøn¨¦ AkUQß £oPøÍ ÂÍUSP. 
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13.  (a) Distinguish between TCP and UDP. 

   TCP ©ØÖ® UDP ø¯ ÷ÁÖ£kzxP. 

Or 

 (b) What are the advantages of XML? Explain. 

   XML&ß |ßø©PÒ ¯õøÁ? ÂÍUSP. 

14.  (a) Write about the components of E-CRM. 

   E-CRM ß TÖPøÍ¨ £ØÔ GÊxP. 

Or 

 (b) State the advantages of electronic logistics. 

   ªßÚq uÍÁõh[PÎß |ßø©PøÍU SÔ¨¤kP. 

15.  (a) Describe briefly the features of knowledge 
management tools. 

   AÔÄ ÷©»õsø© P¸ÂPÎß C¯À¦PøÍ 
_¸UP©õÚ ÂÁ›UP. 

Or 

 (b) Explain the working mechanism of NEFT. 

   NEFT&ß ö\¯À£õmk ÁÈ•øÓø¯ ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Distinguish between traditional commerce and  
E-commerce. 

 £õμ®£›¯ ÁºzuP® ©ØÖ® ªßÚq ÁoPzøu 
÷ÁÖ£kzxP. 

17. Explain the advantages and disadvantages of online 
marketing. 

 Cøn¯uÍ \¢øu°¯¼ß |ßø©PÒ ©ØÖ® wø©PøÍ 
ÂÍUSP. 
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18. Describe the steps involved in implementing a security 
solution in an E-commerce environment. 

 ªßÚq ÁoP`Ç¼À £õxPõ¨¦ wºøÁ 
ö\¯À£kzxÁvÀ EÒÍ £iPøÍ ÂÁ›UP. 

19. Enumerate the different types of online payment system. 

 Cøn¯uÍ ö\¾zuÀ •øÓ°ß £À÷ÁÖ ÁøPPøÍU 
PnUQkP. 

20. Discuss the benefits and limitations of NEFT. 

 NEFT&ß |ßø©PÒ ©ØÖ® SøÓ£õkPøÍ £ØÔ ÂÁõvUP. 

 

 

  

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is internal audit? 

 EÒ uoUøP GßÓõÀ GßÚ? 

2. Give the meaning of auditing. 

 uoUøP°¯¼ß ö£õ¸Ò u¸P. 

3. What is voucher? 

 \õßÓõ´Ä GßÓõÀ GßÚ? 

4. What is audit ledger? 

 uoUøP ÷£÷μk GßÓõÀ GßÚ? 

5. What is meant by audit report? 

 uoUøP AÔUøP £ØÔ AÔÁx GßÚ? 

6. How do you audit ledger accounts? 

 ÷£÷μmk PnUSPøÍ }[PÒ GÆÁõÖ uoUøP 
ö\´ÃºPÒ? 

Sub. Code 
10232/12532



D–1951 
  2

7. What is joint audit? 

 Tmk uoUøP GßÓõÀ GßÚ? 

8. Who is appoints statutory auditor? 

 \mh¨§ºÁ uoUøP¯õÍøμ {¯ª¨£Áº ¯õº? 

9. What is special audit investigation? 

 ]Ó¨¦ uoUøP ¦»Úõ´Ä GßÓõÀ GßÚ? 

10. Which type of audit is used in educational institution? 

 PÀÂ {ÖÁÚzvÀ G¢u ÁøP¯õÚ uoUøP 
£¯ß£kzu¨£kQÓx? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the advantages and disadvantages of 
internal check? 

   EÒ \›£õº¤ß |ßø©PÒ ©ØÖ® wø©PÒ ¯õøÁ? 

Or 

 (b) Define auditing. State its limitations. 

   uoUøPø¯ Áøμ¯ÖUPÄ®. Auß SøÓ£õkPøÍ 
TÓÄ®. 

12.  (a) Distinguish between internal check and internal 
audit. 

   EÒ \›£õº¨¦ ©ØÖ® EÒ uoUøP BQ¯ÁØøÓ 
÷ÁÖ£kzxP. 

Or 

 (b) How is auditor report written? 

   uoUøP¯õÍº AÔUøP GÆÁõÖ GÊu¨£kQÓx? 
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13.  (a) What are the duties of an auditor? 

   J¸ uoUøP¯õÍ›ß Phø©PÒ ¯õøÁ? 

Or 

 (b) What are the objectives of verification of liabilities? 

   ö£õÖ¨¦PøÍ \›£õº¨£uß ÷|õUP[PÒ ¯õøÁ? 

14.  (a) What are the duties of cost auditor? 

   ö\»Ä uoUøP¯õÍ›ß Phø©PÒ ¯õøÁ? 

Or 

 (b) What are the objects of special audit? 

   ]Ó¨¦ uoUøP°ß ÷|õUP[PÒ ¯õøÁ? 

15.  (a) What are the problems faced in the audit of 
computerized accounts? 

   PoÛ©¯©õUP¨£mh PnUSPÎß uoUøP°À 
GvºöPõÒÐ® ]UPÀPÒ ¯õøÁ? 

Or 

 (b) What are the qualities of a good auditor? 

   J¸ |À» uoUøP¯õÍ›ß Sn[PÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. State the matters to be considered while vouching. 

 \õßÓõ´Âß ÷£õx P¸zvÀ öPõÒÍ ÷Ási¯ 
Âå¯[PøÍU SÔ¨¤hÄ®. 

17. What are the different types of audit report? 

 £À÷ÁÖ ÁøP¯õÚ uoUøP AÔUøPPÒ ¯õøÁ? 
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18. State the provision of companies act 1956 with regard to 
qualification and appointments of auditors. 

 uoUøP¯õÍºPÎß uSv ©ØÖ® {¯©Ú[PÒ öuõhº£õP 
{ÖÁÚ[PÎß \mh® 1956Cß HØ£õkPøÍU 
SÔ¨¤hÄ®. 

19. What is meant by continuous audit? Bring out its 
advantages and disadvantages. 

 öuõhºa]¯õÚ uoUøP GßÓõÀ GßÚ? AuÝøh¯ 
|ßø©PÒ ©ØÖ® wø©PøÍ öÁÎöPõnºP. 

20. Discuss about the audit of cinema theatre. 

 ]Û©õ v÷¯mhº uoUøPø¯ £ØÔ ÂÁõvUPÄ®. 

 

 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is meant by merchant banking? 

 ÁoP Á[Q £ØÔ AÔÁx GßÚ? 

2. What do you mean by brokerage? 

 uμS £ØÔ }Âº AÔÁx GßÚ? 

3. State any two features of global depository receipts. 

 E»PÍõÂ¯ øÁ¨¦PÒ μ^xPÎß H÷uÝ® Cμsk 
C¯À¦PøÍ SÔ¨¤kP. 

4. What are the classifications of financial services 
industry? 

 {va ÷\øÁz xøÓ°ß ÁøP¨£õkPÒ ¯õøÁ? 

5. Mention any two schemes that can be offered by a mutual 
fund. 

 £μì£μ {v ‰»® ÁÇ[PUTi¯ H÷uÝ® Cμsk 
vmh[PøÍU SÔ¨¤kP. 
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6. What is vendor leasing? 

 ÂØ£øÚ¯õÍº SzuøP GßÓõÀ GßÚ? 

7. Write note on purchase financing. 

 öPõÒ•uÀ {v £ØÔ SÔ¨¦ GÊxP. 

8. State any two limitations of mergers. 

 Cøn¨¦PÎß H÷uÝ® Cμsk SøÓ£õkPøÍ 
SÔ¨¤kP. 

9. What are the assets suitable for securitization? 

 £õxPõzu¾US HØÓ ö\õzxUPÒ ¯õøÁ? 

10. What is venture capital? 

 xoPμ ‰»uÚ® GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) State the benefits of issue management.                      

   öÁÎ±mk ÷©»õsø©°ß |ßø©PøÍ SÔ¨¤kP. 

Or 

 (b) Distinguish between underwriting and brokerage. 

   J¨¦Öv ©ØÖ® uμøP ÷ÁÖ£kzxP. 

12.  (a) Explain the advantages of FCCBs. 

   FCCB PÎß |ßø©PøÍ ÂÍUSP. 

Or 

 (b) Bring out the importance of financial services. 

   {va ÷\øÁPÎß •UQ¯zxÁzøu öÁÎU öPõnºP. 
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13.  (a) Describe briefly the objectives of depository. 
   øÁ¨¦zöuõøP°ß ÷|õUP[PøÍ _¸UP©õP 

ÂÁ›UP. 

Or 

 (b) What are the risks associated with mutual funds? 
Explain. 

   £μì£μ {vPÐhß öuõhº¦øh¯ ChºPÒ ¯õøÁ? 
ÂÍUSP. 

14.  (a) Explain the features of hire purchase. 
   ÁõhøP öPõÒ•u¼ß C¯À¦PøÍ ÂÍUSP. 

Or 

 (b) List out the types of merger. 
   Cøn¨¦PÎß ÁøPPøÍ £mi¯¼kP. 

15.  (a) Explain the role of merchant bankers in 
securitization. 

   £õxPõzu¼À ÁoP Á[Q¯õÍºPÎß £[øP 
ÂÍUSP. 

Or 

 (b) State the importance of venture capital financing. 
   xoPμ ‰»uÚ {v²uÂ°ß •UQ¯zxÁzøuU 

SÔ¨¤kP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Examine the components of Indian financial system. 
 C¢v¯ {v Aø©¨¤ß TÖPøÍ Bμõ²P. 

17. Describe the structure of the mutual fund operations in 
India. 

 C¢v¯õÂ¾ÒÍ £μì£μ {v ö\¯À£õkPÎß Pmhø©¨ø£ 
ÂÁ›UP. 
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18. Discuss the advantages and disadvantages of leasing. 

 SzuøP°ß |ßø©PÒ ©ØÖ® wø©PøÍ £ØÔ ÂÁõvUP. 

19. Explain the various theories of portfolio management. 

 öuõS¨¦ ÷©»õsø©°ß £À÷ÁÖ ÷Põm£õkPøÍ 
ÂÍUSP. 

20. Enumerate the different types of factoring services. 

 £À÷ÁÖ ÁøP¯õÚ Põμoa ÷\øÁPøÍU PnUQkP. 

 

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Give the meaning of demand. 

 ÷uøÁ°ß ö£õ¸Ò u¸P. 

2. What is market equilibrium? 

 \¢øu \©{ø» GßÓõÀ GßÚ? 

3. Write any two functions of managerial economist. 

 ÷©»õsø© ö£õ¸Íõuõμ {¦Ú›ß H÷uÝ® Cμsk 
ö\¯À£õkPøÍ GÊuÄ®. 

4. What is meant by revenue of a firm? 

 J¸ {ÖÁÚzvß Á¸Áõ´ £ØÔ AÔÁx GßÚ? 

5. What is profit maximization? 

 »õ£zøu AvP¨£kzxuÀ GßÓõÀ GßÚ? 

6. How do you calculate cost of production? 

 EØ£zv ö\»Ä GÆÁõÖ PnUQh¨£kQÓx? 
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7. Write any two characteristic features of imperfect 
competition. 

 {øÓÁØÓ ÷£õmi°ß H÷uÝ® Cμsk ]Ó¨£®\[PøÍ 
GÊuÄ®. 

8. What is industry equilibrium? 
 öuõÈÀ \©{ø» GßÓõÀ GßÚ? 

9. What do you mean by consumption function? 
 ~PºÄ ö\¯À£õk £ØÔ }Ãº AÔÁx GßÚ? 

10. What is deflation? 
 £nÁõmh® GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Distinguish between managerial economics and 
macro economics. 

   ÷©»õsø© ö£õ¸Íõuõμ® ©ØÖ® ÷£›Ú¨ 
ö£õ¸Íõuõμ® BQ¯ÁØøÓ ÷ÁÖ£kzv ÂÍUPÄ®. 

Or 

 (b) Explain the importance of managerial economics. 
   ÷©»õsø© ö£õ¸Íõuõμzvß •UQ¯zxÁzøu 

ÂÍUPÄ®. 

12.  (a) State the law of demand. Explain the determinants 
of demand. 

   ÷uøÁ Âvø¯ TÔ ÷uøÁø¯ wº©õÛUS® 
PõμoPøÍ ÂÍUSP. 

Or 

 (b) Write a short note on Marris’ growth maximization 
model. 

   Marris’ ÁÍºa] AvP£m\ ©õv› £ØÔ ]Ö SÔ¨ø£ 
GÊuÄ®. 
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13.  (a) Explain the types of short-run cost analysis for 
business. 

   ÁoPzvØPõÚ SÖQ¯ Põ» ö\»Ä £S¨£õ´Ä 
ÁøPPøÍ ÂÍUSP. 

Or 

 (b) What are the objectives of pricing policies? 

   Âø»U öPõÒøP°ß ÷|õUP[PÒ ¯õøÁ? 

14.  (a) Explain the different models of duopoly. 

   l÷£õ¼°ß öÁÆ÷ÁÖ ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) What are the characteristic features of perfectly 
competitive market? 

   {øÓÄ¨ ÷£õmi \¢øu°ß ]Ó¨¤¯À¦ A®\[PÒ 
¯õøÁ? 

15.  (a) Analyze the factors influencing the investment 
decision. 

   •u½mk •iøÁ £õvUS® PõμoPøÍ £S¨£õ´Ä 
ö\´P. 

Or 

 (b) What are the various measures to control trade 
cycles? 

   ÁºzuP _ÇØ]PøÍU Pmk¨£kzx® £À÷ÁÖ 
|hÁiUøPPÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the survey and statistical methods of demand 
forecasting. 

 ÷uøÁ •ßÚÔÂ¨¦UPõÚ PnUöPk¨¦ ©ØÖ® ¦ÒÎÂÁμ 
•øÓPøÍ ÂÍUSP. 

17. Explain the various pricing methods. 

 £À÷ÁÖ Âø» •øÓPøÍ ÂÍUSP. 
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18. Bring out the relationship between monetary and fiscal 
policies. 

 £nÂ¯À ©ØÖ© {vU öPõÒøPPÐUS Cøh÷¯ EÒÍ 
EÓøÁ öÁÎ¨£kzxP. 

19. Discuss how prices are determined in perfect and 
imperfect competition. 

 {øÓÄ¨ ÷£õmi \¢øu ©ØÖ© {øÓÁØÓ ÷£õmi \¢øu°À 
Âø»PÒ GÆÁõÖ wº©õÛUP¨£kQßÓÚ Gß£øu¨ £ØÔ 
ÂÁõvUPÄ®. 

20. Define business cycle. Identify the phases of business 
cycle and explain what is happening to spending output 
and income, employment and prices in each phase. 

 ÁoP _ÇØ]ø¯ Áøμ¯ÖUPÄ®. ÁoPa _ÇØ]°ß 
Pmh[PøÍU PshÔ¢x, JÆöÁõ¸ Pmhzv¾® ö\»Ä, 
öÁÎ±k ©ØÖ® Á¸©õÚ®, ÷Áø» Áõ´¨¦ ©ØÖ® 
Âø»PÎÀ GßÚ |hUQÓx Gß£øu ÂÍUPÄ®. 

 

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is meant by risk? 

 Chº GßÓõÀ GßÚ? 

2. What is insurance? 

 Põ¨¥k GßÓõÀ GßÚ? 

3. Expand : (a) IRDAI (b) GICI. 

 Â›ÁõUSP : (A) IRDAI (B) GICI. 

4. State any two objects of life insurance. 

 B²Ò Põ¨¥miß H÷uÝ® Cμsk ÷|õUP[PøÍ TÖP. 

5. Who is an insurance agent? 

 Põ¨¥mk •PÁº Gß£Áº ¯õº? 

6. What is product development? 

 ö£õ¸Ò •ß÷ÚØÓ® GßÓõÀ GßÚ? 

Sub. Code 
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7. What is underwriting? 

 J¨¦Öv GßÓõÀ GßÚ? 

8. What is meant by claims? 

 ÷Põ›UøP £ØÔ }Ãº AÔÁx GßÚ? 

9. What do you mean by insurance pricing? 

 Põ¨¥mk Âø»°kuÀ £ØÔ }Ãº AÔÁx GßÚ? 

10. What is reinsurance? 

 ©ÖPõ¨¥k GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What is meant by risk? Explain its kinds. 

   Chº GßÓõÀ GßÚ? AuÝøh¯ ÁøPPøÍ 
ÂÍUSP. 

Or 

 (b) Explain the various future strategies of Indian 
insurance sector. 

   C¢v¯ Põ¨¥mk xøÓ°ß £À÷ÁÖ Á¸[Põ» 
²UvPøÍ ÂÍUSP. 

12.  (a) What are the differences between life insurance and 
general insurance? 

   B²Ò Põ¨¥k ©ØÖ® ö£õxPõ¨¥miß ÷ÁÖ£õkPÒ 
¯õøÁ? 

Or 

 (b) What are the procedures for taking out a marine 
policy? 

   PhÀ\õº Põ¨¥miøÚ Gk¨£uØPõÚ ÁÈ•øÓPÒ 
¯õøÁ? 
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13.  (a) Explain the types of motor insurance policies. 
   ÁõPÚ Põ¨¥mk vmhÁnzvß ÁøPPøÍ ÂÍUSP. 

Or 

 (b) What are the essential qualities of an successful 
agent? 

   J¸ öÁØÔPμ©õÚ Põ¨¥mk •PÁ¸US›¯ Ai¨£øh 
Sn|»ßPÒ ¯õøÁ? 

14.  (a) What are the different types of insurance 
underwriting? 

   £À÷ÁÖ ÁøP¯õÚ Põ¨¥mk J¨¦ÖvPÒ ¯õøÁ? 

Or 

 (b) What are the circumstances under which the claim 
may be denied? 

   GzuøP¯ `Ì{ø»PÎÀ Põ¨¥mk öuõøP 
÷Põ›UøP¯õÚx ©ÖUP¨£kQÓx? 

15.  (a) Why is optimal insurance pricing important? 
   EP¢u Põ¨¥mk Âø»¯õÚx Hß •UQ¯©õÚx? 

Or 

 (b) Distinguish between reinsurance and double 
insurance. 

   ©ÖPõ¨¥k ©ØÖ® Cμmøh Põ¨¥møh ÷ÁÖ£kzxP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the different types of insurance. 
 Põ¨¥miß öÁÆ÷ÁÖ ÁøPPøÍ ÂÍUSP. 

17. Explain the different kinds of fire insurance policies. 
 w Põ¨¥mk vmhõÁnzvß öÁÆ÷ÁÖ ÁøPPøÍ 

ÂÁ›UP. 
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18. Describe the various duties and rights of an insurance 
agent. 

 J¸ Põ¨¥mk •PÁ¸øh¯ £À÷ÁÖ Phø©PÒ ©ØÖ® 
E›ø©PøÍ ÂÍUSP. 

19. What are the procedures regarding settlement of policy 
claims? 

 B²Ò Põ¨¥møh |øh•øÓ£kzxÁuØPõÚ •UQ¯ 
ÁÈ•øÓPøÍ ÂÁõvUPÄ®. 

20. Explain the different methods used in pricing individual 
life and health insurance. 

 uÛ|£›ß B²Ò ©ØÖ® EhÀ|» Põ¨¥miØS Âø» 
{ºn¯® ö\´ÁvÀ £¯ß£kzu¨£k® £À÷ÁÖ •øÓPøÍ 
ÂÍUSP. 

 

 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define the term statistics. 

 ¦ÒÎ°¯À GÝ® £uzøu Áøμ¯ÖUP. 

2. What is meant by average? 

 \μõ\› £ØÔ AÔÁx GßÚ? 

3. List out any two uses of probability. 

 {PÌuPÂß £¯ßPÎÀ H÷uÝ® CμsiøÚ £mi¯¼kP. 

4. What is meant by multiplication theorem? 

 ö£¸UPÀ ÷uØÓzøu¨ £ØÔ AÔÁx GßÚ?   

5. What is population? 

 ©UPÒöuõøP GßÓõÀ GßÚ? 

6. What do you mean by Null hypothesis? 

 öÁØÖ AÝ©õÚ® £ØÔ }Âº AÔÁx GßÚ? 
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7. List out any two uses of correlation. 

 Ehßöuõhº¤ß H÷uÝ® Cμsk £¯ßPøÍ £mi¯¼kP. 

8. What is regression analysis? 

 öuõhº¦ ÷£õUS £S¨£õ´Ä GßÓõÀ GßÚ? 

9. Define the term time series. 

 Põ»z öuõhº Á›ø\ GÝ® £uzøu Áøμ¯ÖUP. 

10. What is meant by cost of living index? 

 ÁõÌUøPa ö\»Ä SÔ±möhs £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the limitations of statistics? 

   ¦ÒÎ°¯¼ß SøÓ£õkPÒ ¯õøÁ? 

Or 

 (b) Calculate geometric mean for the following data. 

  X    50   72   54   82   93. 

   ¤ßÁ¸® ÂÁμ[PÐUS ö£¸US \μõ\›ø¯ PõsP. 

  X    50   72   54   82   93. 

12.  (a) The probability that both X and Y will solve the 
problem is 0.5 and 0.8 respectively. What is 
probability that both of them will solve the problem? 

   J¸ PnUøP wº¨£uØS X ©ØÖ® Y US 0.5 ©ØÖ® 
0.8 GÚ Áõ´¨¦PÒ •øÓ÷¯ EÒÍÚ. C¸Á¸® 
Cøn¢x PnUøP wº¨£uØPõÚ {PÌuPÄ GßÚ? 

Or 
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 (b) A bag contains 8 yellow and 7 black balls. What is 
the probability of drawing 4 black balls? 

   J¸ ø£°À 8 ©g\Ò ©ØÖ® 7 P¸¨¦ {Ó £¢xPÒ 
EÒÍÚ. AvÀ 4 P¸¨¦ {Ó £¢xPøÍ GkUP 
{PÌuPÄ GßÚ? 

13.  (a) Write down the various steps involved in hypothesis 
testing. 

   AÝ©õÚ[PøÍ ÷\õuøÚ ö\´ÁvÀ Ah[Q²ÒÍ 
£À÷ÁÖ £i{ø»PøÍ GÊxP. 

Or 

 (b) What are the properties of ANOVA?  

   ANOVA Âß Sn[PÒ ¯õøÁ? 

14.  (a) Find the rank correlation. 

X 21 36 42 37 25

Y 47 40 37 42 43
   uμ Ehß öuõhºø£ PõsP. 

X 21 36 42 37 25

Y 47 40 37 42 43

Or 

 (b) Bring out the characteristics of business forecasting. 
   Â¯õ£õμ •ßÚÔÂ¨¤ß Snõv]¯[PøÍ u¸P. 

15.  (a) Draw a trend line by the method of semi-averages. 

Year 2000 2001 2002 2003 2004 2005 2006

Sales (in units) 100 110 120 115 130 135 140 
   £õv \μõ\› •øÓ°À J¸ ÷£õUS ÷Põmøh ÁøμP. 

BskPÒ 2000 2001 2002 2003 2004 2005 2006
ÂØ£øÚ (A»SPÎÀ) 100 110 120 115 130 135 140 

Or 
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(b) Construct an index number for 2006 taking 2005 as 
base from the following data : 

 
Commodity 

Price in 2005  
(Rs.) 

Price in 2006 
(Rs.) 

A 50 60 

B 40 80 

C 70 110 

D 90 70 

E 50 40 

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x 2005 B® Bsøh 
Ai¨£øh¯õPU öPõsk 2006B® BsiØPõÚ 
SÔ±möhsøn {ÖÄP. 

ö£õ¸Ò 2005À Âø» (¹.) 2006À Âø» (¹.)

A 50 60 

B 40 80 

C 70 110 

D 90 70 

E 50 40 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Calculate mean and median for the following data. 
Value Frequency

Less than 10 4 
”   20 10 
”   30 15 
”   40 25 
”   50 30 
”   60 35 
”   70 45 
”   80 65 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x \μõ\› ©ØÖ® Cøh{ø»ø¯U 
PnUQkP. 

©v¨¦ Aø»öÁs

10 US RÌ  4 

20 US RÌ 10 

30 US RÌ 15 

40 US RÌ 25 

50 US RÌ 30 

 60 US RÌ 35 

70 US RÌ 45 

80 US RÌ 65 

17. The following mistakes per page were observed in a book. 

No. of mistakes per page 0 1 2 3 4 5

No. of times the mistakes occurred 110 101 80 29 5 0

 Fit a Poisson distribution to this data. 

JÆöÁõ¸ £UPzv¾ÒÍ ¤øÇPÎß 
GsoUøP 

0 1 2 3 4 5

¤øÇPÒ {PÌÁuØPõÚ GsoUøP 110 101 80 29 5 0

 ÷©ØTÔ¯ uPÁÀPÐUS £õ´\ß £μÁø» PõsP. 

18. An I.Q. test was administered to 5 persons before and 
after they were trained. The results are given below? 

Candidates I II III IV V 

I.Q. before training 110 120 123 132 125

I.Q. after training 120 118 125 136 121

 Test whether there is any change in I.Q. after the 
training program. [t0.01 (4) = 4.6]. 
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 5 |£ºPÐUS ~snÔÄ AÍÄ ÷\õuøÚ £°Ø] 
AÎ¨£uØS •ßÝ®, ¤ßÝ® AÎUP¨£mhx. AuÝøh¯ 
•iÄ ¤ßÁ¸©õÖ : 

|£ºPÒ I II III IV V 

I.Q. £°Ø]US •ß 110 120 123 132 125

I.Q. £°Ø]US ¤ß 120 118 125 136 121

 £°Ø] AÎzu ¤ÓS I.Q. ÂÀ H÷uÝ® ©õØÓ® EÒÍuõ 
GÚ PshÔP. [t0.01 (4) = 4.6]. 

19. In a competition the remarks of three judges are as 
follows. Decide which pair have nearest approach. (use 
rank correlation) 

Judge A : 1 5 4 8 9 6 10 7 3 2

Judge B : 4 8 7 6 5 9 10 3 2 1

Judge C : 6 7 8 1 5 10 9 2 3 4

 J¸ ÷£õmi°À ‰ßÖ }v£vPÎß SÔ¨¦øμ ¤ßÁ¸©õÖ. 
G¢u ÷áõi ö|¸[Q¯ AqS•øÓø¯ öPõskÒÍx 
Gß£øu wº©õÛUP. (uμ Ehß öuõhºø£ £¯ß£kzxP.) 

}v£v A : 1 5 4 8 9 6 10 7 3 2

}v£v B : 4 8 7 6 5 9 10 3 2 1

}v£v C : 6 7 8 1 5 10 9 2 3 4

20. Construct Fisher’s ideal index from the following data 
and show that is satisfies time reversal test and factor 
reversal test. 

No. of units Price  
Commodity Base year Current year Base year Current year

A 6 8 10 12 

B 10 10 5 8 

C 5 7 8 10 

D 15 20 12 15 

E 20 25 15 10 
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 ¤ßÁ¸® uPÁÀPÎ¼¸¢x L¤ìé›ß ©õv› SÔ±mk 
Gsøn {ÖÄP ÷©¾® Ax Põ» ©õØÖa ÷\õuøÚ ©ØÖ® 
Põμo ©õØÖa ÷\õuøÚø¯ §ºzv ö\´QßÓuõ GÚU 
PõmkP. 

A»SPÎß GsoUøP Âø»  
ö£õ¸ÒPÒ 

Ai¨£øh 
Bsk 

|h¨¦ 
Bsk 

Ai¨£øh 
Bsk 

|h¨¦ 
Bsk 

A 6 8 10 12 

B 10 10 5 8 

C 5 7 8 10 

D 15 20 12 15 

E 20 25 15 10 

 

 

  

———————— 



 

  

D–1956     

DISTANCE EDUCATION 

B.Com./B.Com.(Lateral Entry) DEGREE EXAMINATION, 
DECEMBER 2023. 

Fourth Semester 

OFFICE MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Who is an office manager? 

 A¾Á»P ÷©»õÍº Gß£Áº ¯õº? 

2. What is organizational chart? 

 Aø©¨¦ ÂÍUP¨£h® GßÓõÀ GßÚ? 

3. What is office manual? 

 A¾Á»P øP÷¯k GßÓõÀ GßÚ? 

4. State any two benefits of lighting. 

 öÁÎa\ªku¼ß H÷uÝ® Cμsk |ßø©PøÍ TÖP. 

5. What is meant by continuous stationery? 

 öuõhº GÊxö£õ¸Ò £ØÔ AÔÁx GßÚ? 

6. What is meant by office form? 

 A¾Á»P £iÁ® £ØÔ AÔÁx GßÚ? 

Sub. Code 
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7. What is filing? 

 ÷Põ¨¤kuÀ GßÓõÀ GßÚ? 

8. What is word processor? 

 ö\õÀ ö\¯»õUQ GßÓõÀ GßÚ? 

9. What do you mean by inward mail? 

 EÒÁ¸® Ag\À £ØÔ }Âº AÔÁx GßÚ? 

10. State any two objectives of using machines. 

 C¯¢vμzøu £¯ß£kzxÁuß H÷uÝ® Cμsk 
÷|õUP[PøÍ TÖP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the advantages of open office? 

   vÓ¢u A¾Á»Pzvß |ßø©PÒ ¯õøÁ? 

Or 

 (b) State the qualities that make a good office manager. 

   J¸ |À» A¾Á»P ÷©»õÍøμ E¸ÁõUS® 
Sn[PøÍU SÔ¨¤hÄ®. 

12.  (a) What are the advantages of sound office system? 

   EÖv¯õÚ A¾Á»P Aø©¨¤ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Briefly explain the principles of designing office 
layout. 

   A¾Á»P Aø©¨ø£ ÁiÁø©¨£uØPõÚ 
öPõÒøPPøÍ _¸UP©õP ÂÍUSP. 
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13.  (a) List out the benefits of controlling stationeries. 

   GÊxö£õ¸ÒPøÍ Pmk£kzxÁuß |ßø©PøÍ 
£mi¯¼kP. 

Or 

 (b) What are the objectives of forms control? 

   £iÁU Pmk¨£õmiß ÷|õUP[PÒ ¯õøÁ? 

14.  (a) What are the characteristics of an efficient filing 
system? 

   vÓø©¯õÚ ÷Põ¨¤kuÀ •øÓø©°ß £s¦PÒ 
¯õøÁ? 

Or 

 (b) State the essential features of good system of 
indexing. 

   J¸ |À» SÔ±mk •øÓø©°ß Azv¯õÁ]¯ 
A®\[PøÍU SÔ¨¤hÄ®. 

15.  (a) Write the rules for outwards mail department. 

   öÁÎ¨¦Ó Ag\À xøÓUPõÚ ÂvPøÍ GÊxP. 

Or 

 (b) How should you determine whether a particular 
machine is needed in the office? Explain. 

   A¾Á»PzvÀ J¸ SÔ¨¤mh C¯¢vμ® ÷uøÁ¯õ 
Gß£øu GÆÁõÖ wº©õÛUP ÷Ásk®? ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. What is delegation of authority? Explain its elements. 

 AvPõμ J¨£øhÄ GßÓõÀ GßÚ? AuÝøh¯ TÖPøÍ 
ÂÍUSP. 



D–1956 

 

  4

17. Discuss the factors that must be considered in choosing 
office furniture. 

 A¾Á»P AøÓP»ßPøÍz ÷uº¢öukUS® ÷£õx P¸zvÀ 
öPõÒÍ ÷Ási¯ PõμoPøÍ¨ £ØÔ ÂÁõvUP. 

18. Explain an efficient procedure for controlling and 
regulating the consumption of stationery. 

 GÊxö£õ¸mPÎß ~PºÄPøÍ Pmk£kzxÁuØS® 
JÊ[S£kzxÁuØS©õÚ ÁÈ•øÓPøÍ ÂÍUSP. 

19. Discuss the various methods of filing. 

 ÷Põ¨¤kuÀ ö\´ÁuØPõÚ £À÷ÁÖ •øÓPøÍ¨ £ØÔ 
ÂÁõvUPÄ®.                                

20. What are electronic computers? What are their functions 
and uses? 

 ªßÚq PoÛPÒ GßÓõÀ GßÚ? AÁØÔß 
ö\¯À£õkPÒ ©ØÖ® £¯ßPÒ ¯õøÁ? 

 

 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com.,B.Com.(L.E.)/ 
B.Com.(CA)/B.Com.(CA)(L.E.) DEGREE EXAMINATION, 

DECEMBER 2023. 

Fourth Semester 

MANAGEMENT ACCOUNTING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is management accounting? 

 ÷©»õsø© PnUQ¯À GßÓõÀ GßÚ? 

2. What is zero base budgeting? 

 §äâ¯zøu Ai¨£øh¯õP öPõsh vmh£mi¯À GßÓõÀ 
GßÚ? 

3. What is overhead variance? 

 ÷©Øö\»Ä ©õÖ£õk GßÓõÀ GßÚ? 

4. What is break even sales? 

 \©{ø» ÂØ£øÚ GßÓõÀ GßÚ? 

5. What do you mean by comparative statement? 

 J¨¤mk AÔUøP £ØÔ }Ãº AÔÁx GßÚ? 

6. What do you mean by debt-equity ratio? 

 Phß&ö£õx ÂQu® £ØÔ }Ãº AÔÁx GßÚ? 

Sub. Code 
10244/12544/
12844/12344
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7. What is gross working capital? 

 ö©õzu |øh•øÓ ‰»uÚ® GßÓõÀ GßÚ? 

8. What do you mean by non-cash items? 

 öμõUP® \õμõu CÚ[PÒ £ØÔ }Ãº AÔÁx GßÚ? 

9. What is transfer pricing? 

 £›©õØÓ Âø» GßÓõÀ GßÚ? 

10. What is meant by responsibility accounting? 

 ö£õÖ¨¦ PnUQ¯À £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Briefly discuss the scope of management 
accounting. 

   ÷©»õsø© PnUQ¯¼ß GÀø»ø¯ _¸UP©õP 
ÂÁõvUP. 

Or 

 (b) With the following data for a 60% activity prepare a 
flexible budget for production at 80% and 100% 
activity : 

  Production at 60% – 600 units 

 Rs. 

Materials 100 per unit

Labour 40 per unit

Expenses 10 per units

  Administrative expenses Rs. 30,000 (60% fixed) 

  Factory expenses Rs. 40,000 (40% fixed) 



D–1957 
  3

   ¤ßÁ¸® 60% ö\¯À£õmiß uPÁÀPøÍU öPõsk 
ö|QÌÄz vmhzøu 80% ©ØÖ® 100%&zvØS u¯õº 
ö\´P. 

  60% EØ£zv°À – 600 A»SPÒ 

  ‰»¨ö£õ¸Ò Kº A»QØS ¹. 100 

  T¼ Kº A»QØS ¹. 40 

  ö\»ÂÚ[PÒ Kº A»QØS ¹. 10 

  {ºÁõP ö\»ÂÚ[PÒ ¹. 30,000 (60% {ø»¯õÚx) 

  Bø»a ö\»ÄPÒ ¹. 40,000 (40% {ø»¯õÚx) 

12.  (a) From the following data calculate labour variance 
for the two departments. 

Departments  
Particulars A (Rs.) B (Rs.) 

Actual wages 2000 1800

Standard hours produced 8000 6000

Standard rate per hour 30 paise 35 paise

Actual hours worked 8200 5800

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x C¸ xøÓPÐUPõÚ 
EøÇ¨¦ ©õÖ£õmøh PõsP. 

xøÓPÒ  
ÂÁμ[PÒ 

A (¹.) B (¹.) 

Esø©¯õÚ T¼ 2000 1800

vmh ÷|μzvØPõÚ EØ£zv 8000 6000

J¸ ©oUPõÚ {ø»¯õÚ Ãu® 30 ø£\õ 35 ø£\õ

Esø©¯õP EøÇzu ÷|μ[PÒ 8200 5800

Or 
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 (b) Explain the following : 

  (i)  profit volume ratio 

  (ii) margin of safety. 

   ¤ßÁ¸ÁÚÁØøÓ ÂÍUSP : (i) C»õ£ AÍÄ ÂQu® 

(ii) £õxPõ¨¦ GÀø». 

13.  (a) From the following information compute the trend 
percentages taking 2010 as the base year.  

(Rs. in lakhs) 

Year 2010 2011 2012 2013 2014 2015 2016 2017

Sales revenue 30 35 28 36 40 25 60 42 

Operating profit 6 8 5 8 9 4 12 10 

   2010 Bsøh Ai¨£øh BshõP öPõsk 
¤ßÁ¸® ÂÁμ[PÎ¼¸¢x ÷£õUS \uÃuzøu 
PnUQkP.    (¹£õ´ C»m\zvÀ) 

Bsk 2010 2011 2012 2013 2014 2015 2016 2017

ÂØ£øÚ Á¸©õÚ® 30 35 28 36 40 25 60 42 

ö\¯À£õmk C»õ£® 6 8 5 8 9 4 12 10 

Or 

 (b) Assuming that a firm has owners’ equity of  
Rs. 1,00,000, the ratio of firm are : 

Current debts to total debts 0.40 

Total debts to Owner’s equity 0.60 

Fixed assets to Owner’s equity 0.40 

Total assets turnover 2 times

Inventory turnover 8 times

  Prepare the balance sheet with as many 
information as possible. 
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   J¸ {ÖÁÚ©õÚx uÚx ö\õ¢u •u»õP  
¹. 1,00,000zøu öPõskÒÍx. ÷©¾® 
A¢{ÖÁÚzvß ÂQu[PÒ ¤ßÁ¸©õÖ. 

ö©õzu PhÝUS |h¨¦ PhßPÒ 0.40 
E›ø©¯õÍº {vUS ö©õzu PhßPÒ 0.60 
E›ø©¯õÍº {vUS {ø»aö\õzxUPÒ 0.40 
ö©õzu ö\õzxUPÎß _ÇØ] 2 uhøÁPÒ

\μUQ¸¨¦ _ÇØ] 8 uhøÁPÒ

  GÆÁÍÄ uPÁÀPøÍ uμ •i²÷©õ u¢x C¸¨¦ 
{ø»USÔ¨¤øÚz u¯õ›UP. 

14.  (a) Prepare a statement of changes in working capital 
from the following balance sheet. 

 Balance sheet as on 31st December 

Liabilities 2019 
Rs. 

 2020 
Rs. 

Assets 2019 
Rs. 

2020 
Rs. 

Equity capital 5,00,000 5,00,000Fixed assets 6,00,000 7,00,000

Debentures 3,70,000 4,50,000Long term investments 2,00,000 1,00,000

Tax payable 77,000 43,000Work in progress 80,000 90,000 

Creditors 96,000 1,92,000Stock 1,50,000 2,25,000

Interest payable 37,000 45,000Debtors 70,000 1,40,000

Dividend payable 50,000 35,000Cash 30,000 10,000 

 11,30,000 12,65,000 11,30,000 12,65,000

   ¤ßÁ¸® C¸¨¦{ø»USÔ¨¤¼¸¢x |øh•øÓ 
•uÀ ©õÖ£õmøh PnUQkP. 

 31 i\®£º AßøÓ¯ C¸¨¦{ø»U SÔ¨¦ 

ö£õÖ¨¦PÒ 2019 
¹. 

 2020 
¹. 

ö\õzxUPÒ 2019 
¹. 

2020 
¹. 

£[S•uÀ 5,00,000 5,00,000{ø»¯õÚ 
ö\õzxUPÒ 6,00,000 7,00,000

PhÜmk¨ 
£zvμ[PÒ 3,70,000 4,50,000

}shPõ» 
•u½kPÒ 2,00,000 1,00,000

Á›ö\¾zu 
÷Ási¯x 77,000 43,000

•iÁøh¯õu 
÷Áø» 

 
80,000 

 
90,000 
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PhÜ¢÷uõº 96,000 1,92,000\μUQ¸¨¦ 1,50,000 2,25,000
Ámi 
ö\¾zu 
÷Ási¯x 37,000 45,000

PhÚõÎPÒ 70,000 1,40,000

£[Põuõ¯® 
ö\¾zu 
÷Ási¯x 50,000 35,000

öμõUP® 30,000 10,000 

 11,30,000 12,65,000 11,30,000 12,65,000

Or 

 (b) Calculate cash from operations from the following : 

 2013 (Rs.) 2014 (Rs.)

Profit and loss appropriation a/c 10,000 20,000

Bills receivable 18,000 22,000

Provision for depreciation 40,000 42,000

Outstanding rent 1,600 4,000

Prepaid insurance 2,000 1,800

Goodwill 24,000 20,000

Stock 12,000 16,000

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x ö\¯À£õkPÎ¼¸¢x 
Qøhzu öμõUPzøuU PnUQkP. 

 2013 (¹.) 2014 (¹.)

C»õ£ |mh £QºÄ PnUS 10,000 20,000

ö£ÖuØS›¯ ©õØÖa^mk 18,000 22,000

÷u´©õÚ JxUS 40,000 42,000

öPõk£h ÷Ási¯ ÁõhøP 1,600 4,000

•ßTmi ö\¾zv¯ Põ¨¥k 2,000 1,800

|Øö£¯º 24,000 20,000

\μUQ¸¨¦ 12,000 16,000
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15.  (a) What are the significance of capital budgeting? 

   ‰»uÚ vmhªku¼ß •UQ¯zxÁ[PÒ ¯õøÁ? 

Or 

 (b) What are the merits and demerits of inflation 
accounting? 

   £nÃUP PnUQ¯¼ß |ßø©PÒ ©ØÖ® wø©PÒ 
¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. State the difference between management accounting 
and cost accounting. 

 ÷©»õsø© PnUQ¯¼ØS® AhUPÂø» PnUQ¯¼ØS® 
Cøh÷¯ EÒÍ ÷ÁÖ£õmøhU TÖP. 

17. From the following details calculate : (a) break even sales 
(b) profit for budgeted sales (c) profit if actual sales are 
less by 10%. 

 Variable cost 
(% of sales) 

Fixed cost
Rs. 

Direct material 32.8 –

Direct labour 28.4 –

Factory overhead 12.6 1,89,900

Distribution overhead 4.1 58,400

General administration overheads 1.1 66,700

Actual sales – 18,50,000

 RÌUPõq® Â£μ[PÎ¼¸¢x PnUQkP : 

 (A) »õ£ |mh ©ØÓ ÂØ£øÚ 

 (B) Gvº£õºUP¨£k® ÂØ£øÚ°À »õ£® 

 (C) Esø©¯õÚ ÂØ£øÚ°À 10% SøÓ¢uõÀ »õ£®. 
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 ©õÖ£k® Âø» 

(ÂØ£øÚ°À 

%) 

{ø»¯õÚ 

ö\»Ä ¹. 

÷|μiö£õ¸Ò 32.8 –

÷|μi T¼ 28.4 –

öuõÈØ\õø» ÷©Øö\»Ä 12.6 1,89,900

ÁÇ[PÒ ÷©Øö\»Ä 4.1 58,400

{ºÁõP ÷©Øö\»Ä 1.1 66,700

        Gvº£õºUP¨£k® ÂØ£øÚ 18,50,000 

18. From the following balance sheet, prepare a common-size 

statement. 

Liabilities and  

capital 

2015 

(Rs.) 

 2016 

(Rs.) 

Assets 2015 

(Rs.) 

2016 

(Rs.) 

Share capital 6,58,000  7,00,000 Cash 27,000 31,500

Long term debt 2,25,000  2,00,000 Debtors 2,20,000 2,11,000

Sundry creditors 42,000  50,000 Stock 1,00,000 1,26,000

Other liabilities 78,000  1,00,000 Prepaid expenses 11,000 21,000

    Bills receivable 10,000 10,500

    Fixed assets 6,35,000 650,000

Total 10,03,000  10,50,000 Total 10,03,000 10,50,000
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 ¤ßÁ¸® C¸¨¦ {ø»USÔ¨¤¼¸¢x J¸ ö£õx AÍÄ 
AÔUøPø¯ u¯õ›UP. 

ö£õÖ¨¦PÒ 
©ØÖ® 
•uÀ 

2015 
(¹.) 

 2016 
(¹.) 

ö\õzxUPÒ 2015 
(¹.) 

2016 
(¹.) 

£[S •uÀ 6,58,000 7,00,000öμõUP® 27,000 31,500
}sh Põ» 
Phß 

 
2,25,000 2,00,000

PhÚõÎPÒ 2,20,000 2,11,000

£Ø£» 
PhÜ¢÷uõº 

 
42,000 50,000

\μUQ¸¨¦ 1,00,000 1,26,000

Cuμ 
ö£õÖ¨¦PÒ 

 
78,000 1,00,000

•ßTmi 
ö\¾zv¯ 
ö\»ÂÚ[PÒ 11,000 21,000

  ö£ÖuØS›¯ 
©õØÖa^mk 10,000 10,500

  {ø»a 
ö\õzxUPÒ 6,35,000 6,50,000

ö©õzu® 10,03,000 10,50,000ö©õzu® 10,03,000 10,50,000

19. Given below are the balance sheet of Ram Ltd., as on 
31.12.2014 and 31.12.2015. 

Liabilities 2014  2015 Assets 2014 2015 

Share capital 5,00,000  7,00,000Land and building 80,000 1,20,000

P and L a/c 1,00,000  1,60,000Machinery 5,00,000 8,00,000

General reserve 50,000  70,000Stock 1,00,000 75,000

Creditors 1,53,000  1,90,000Debtors 1,50,000 1,60,000

Bills payable 40,000  50,000Cash 20,000 20,000

Outstanding expenses 7,000  5,000 

 8,50,000  11,75,000 8,50,000 11,75,000

 Additional information : 
 (a) In 2015 depreciation on machinery Rs. 50,000 was 

charged. 
 (b) One machine which had cost Rs. 21,000 and on 

which Rs. 7,000 depreciation had been provided was 
sold in 2015 for Rs. 8,000.  

 Prepare fund flow statement. 
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 ¤ßÁ¸® C¸¨¦{ø»U SÔ¨£õÚx μõ® {Ö©zvß 
31.12.2014 ©ØÖ® 31.12.2015&® |õÐUS›¯x. 

ö£õÖ¨¦PÒ 2014  2015 ö\õzxUPÒ 2014 2015 
£[S•uÀ 5,00,000 7,00,000{»® ©ØÖ®

Pmih® 80,000 1,20,000
C»õ£ |mh PnUS 1,00,000 1,60,000C¯¢vμ[PÒ 5,00,000 8,00,000
ö£õxUPõ¨¦ 50,000 70,000\μUQ¸¨¦ 1,00,000 75,000
PhÜ¢÷uõºPÒ 1,53,000 1,90,000PhÚõÎPÒ 1,50,000 1,60,000
ö\¾zxuØS›¯ 
©õØÖa ^mk 

 
40,000 50,000

öμõUP® 20,000 20,000

öPõk£h ÷Ási¯ 
ö\»ÄPÒ 

 
7,000 5,000

 

 8,50,000 11,75,000 8,50,000 11,75,000

 TkuÀ Â£μ[PÒ : 

 (A) 2015&À C¯¢vμzvß «x ¹. 50,000 ÷u´©õÚ® 
JxUP¨£mhx. 

 (B) ¹. 21,000 ©v¨¦øh¯ J¸ C¯¢vμzvØS ¹. 7,000 
÷u´©õÚ® JxUP¨£mk 2015&À ¹. 8,000zvØS 
ÂØP¨£mhÚ. 

  {v Kmh AÔUøPø¯z u¯õº ö\´P. 

20. Explain the various factors determining the dividend 
decision. 

 £[Põu¯ •iÂøÚ wº©õÛUPU Ti¯ £À÷ÁÖ 
PõμoPøÍ ÂÍUSP. 

 

 

  

———————— 
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DISTANCE EDUCATION 

B.Com./B.Com.(Lateral Entry) DEGREE EXAMINATION, 
DECEMBER 2023. 

Fifth Semester 

INTERNATIONAL MARKETING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define international marketing. 
 £ßÚõmk \¢øu¨£kzuø» Áøμ¯ÖUPÄ®. 

2. Write the abbreviation of GATT. 

 GATT Gß£uß _¸UPzøu GÊuÄ®. 

3. What do you mean by international marketing 
information system? 

 £ßÚõmk \¢øu¨£kzuÀ uPÁÀ Aø©¨¦ £ØÔ }Ãº 
AÔÁx GßÚ? 

4. What is meant by international logistics planning? 
 £ßÚõmk uÍÁõhz vmhªhÀ £ØÔ AÔÁx GßÚ? 

5. What is personal selling? 
 BÒ\õº ÂØ£øÚ GßÓõÀ GßÚ? 

6. What do you mean by Foreign market? 
 öÁÎ|õmk \¢øu £ØÔ AÔÁx GßÚ? 

Sub. Code 
10251/12551
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7. State any two objectives of SEZS. 

 SEZS ß H÷uÝ® Cμsk ÷|õUP[PøÍU SÔ¨¤hÄ®. 

8. State any two functions of IMF. 

 IMF ß H÷uÝ® Cμsk ö\¯À£õkPøÍU SÔ¨¤hÄ®. 

9. Write any two names of international financial 
institutions. 

 £ßÚõmk {v {ÖÁÚ[PÎß H÷uÝ® Cμsk ö£¯ºPøÍ 
GÊuÄ®. 

10. What is the use of bill of lading? 

 ¤À BL¨ ÷»i[Qß £¯ß ¯õx? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the differences between domestic 
marketing and international marketing? 

   EÒ|õmk \¢øu¨£kzuÀ ©ØÖ® £ßÚõmk 
\¢øu¨£kzuÀ BQ¯ÁØÖUS Cøh÷¯ EÒÍ 
÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) Explain the nature of international marketing. 

   £ßÚõmk \¢øu¨£kzu¼ß ußø©ø¯ ÂÍUSP. 

12.  (a) What are the challenges in global marketing? 

   \ºÁ÷u\ \¢øu¨£kzu¼À EÒÍ \ÁõÀPÒ ¯õøÁ? 

Or 

 (b) What are the objectives of distribution channels in 
International marketing? 

   £ßÚõmk \¢øu¨£kzu¼À Â{÷¯õP ÷\ÚÀPÎß 
÷|õUP[PÒ ¯õøÁ? 
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13.  (a) Explain the need for international marketing 
research. 

   £ßÚõmk \¢øu¨£kzuÀ Bμõ´a]°ß AÁ]¯zøu 
ÂÍUSP. 

Or 

 (b) Distinguish product standardization from product 
adaptation. 

   u¯õ›¨¦z uÊÁ¼À C¸¢x u¯õ›¨¦ uμ¨£kzuø» 
÷ÁÖ£kzxP. 

14.  (a) What are the objectives of EXIM policy? 

   EXIM öPõÒøP°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Explain the significance of export documentation. 

   HØÖ©v BÁn[PÎß •UQ¯zxÁzøu ÂÍUPÄ®. 

15.  (a) Write a short note on World Bank. 

   E»P Á[Q £ØÔ J¸ ]Ö SÔ¨ø£ GÊuÄ®. 

Or 

 (b) Write a short note on FTWZ. 

   FTWZ £ØÔ J¸ ]Ö SÔ¨ø£ GÊuÄ®. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the role of MNC’s in foreign trade. 

 öÁÎ|õmk ÁºzuPzvÀ MNCCß £[øP ÂÍUSP. 

17. Discuss about EXIM policy. 

 EXIM öPõÒøP £ØÔ ÂÁõvUP. 
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18. Describe the different phases of international product life 
cycle. 

 £ßÚõmk ö£õ¸Ò EØ£zv ÁõÌUøP _ÇØ]°ß £À÷ÁÖ 
Pmh[PøÍ ÂÁ›UP. 

19. Define international sales promotion. Describe the 
various sales promotion tools available to international 
marketers. 

 £ßÚõmk ÂØ£øÚ ÷©®£õmøh Áøμ¯ÖUPÄ®. 
£ßÚõmk \¢øu¯õÍºPÐUS QøhUS® £À÷ÁÖ ÂØ£øÚ 
FUSÂ¨¦ P¸ÂPøÍ ÂÁ›UP. 

20. Describe the role of international financial institutions in 
international marketing. 

 £ßÚõmk \¢øu¨£kzu¼À \ºÁ÷u\ {v {ÖÁÚ[PÎß 
£[øP ÂÁ›UP. 

 

 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(L.E.)/ 
B.Com.(CA)/B.Com.(CA)(L.E.) DEGREE EXAMINATION, 

DECEMBER 2023. 

Fifth Semester 

RETAIL MARKETING MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is meant by property management? 

 ö\õzx ÷©»õsø© £ØÔ AÔÁx GßÚ? 

2. Define the term property user. 

 ö\õzx £¯Úº GÝ® £uzøu Áøμ¯ÖUP. 

3. Write a note on property management planning. 

 ö\õzx ÷©»õsø© vmhªhÀ £ØÔ SÔ¨¦ GÊxP. 

4. What is corporate property? 

 {ÖÁÚ ö\õzx GßÓõÀ GßÚ? 

5. State the concepts of benchmarking. 

 uμ¨£kzuÀ £ØÔ¯ P¸zxUPøÍU TÖP. 

6. Write a note on FSI. 

 FSI £ØÔ SÔ¨¦ GÊxP. 

Sub. Code 
10252/12552/
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7. What are the benefits of good tenant mix policy? 

 |À» SzuøPuõμº P»øÁ £õ¼]°ß |ßø©PÒ ¯õøÁ? 

8. Define the term valuation. 

 ©v¨¥k GÝ® £uzøu Áøμ¯ÖUP. 

9. What is meant by preventive maintenance? 

 uk¨¦ £μõ©›¨¦ £ØÔ AÔÁx GßÚ? 

10. Mention the different methods of handle competition. 

 ÷£õmiø¯U øP¯õÐ® £À÷ÁÖ •øÓPøÍU SÔ¨¤kP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) List out the types of property management. 

   ö\õzx ÷©»õsø©°ß ÁøPPøÍ £mi¯¼kP. 

Or 

 (b) What are the steps in stakeholder relationship 
management? Explain. 

   £[Suõμº EÓÄ ÷©»õsø©°À EÒÍ £iPÒ 
¯õøÁ? ÂÍUSP. 

12.  (a) State the importance of property management 
planning. 

   ö\õzx ÷©»õsø© vmhªh¼ß •UQ¯zxÁzøuU 
SÔ¨¤kP. 

Or 

 (b) Write about the techniques for formulating 
strategies in property management. 

   ö\õzx ÷©»õsø©°ß EzvPøÍ ÁS¨£uØPõÚ 
~m£[PøÍ¨ £ØÔ GÊxP. 
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13.  (a) Explain the role of property in business. 

   ÁoPzvÀ ö\õzvß £[øP £ØÔ ÂÍUSP. 

Or 

 (b) Bring out the advantages of retail property 
management. 

   ]À»øÓ ö\õzx ÷©»õsø©°ß |ßø©PøÍ 
öÁÎUöPõnºP. 

14.  (a) Explain the administrative responsibilities of a 
retail property manager. 

   ]À»øÓ ö\õzx ÷©»õÍ›ß {ºÁõP¨ ö£õÖ¨¦PøÍ 
ÂÍUSP. 

Or 

 (b) Briefly explain the factors determining retail 
property value. 

   ]À»øÓ ö\õzx ©v¨ø£ {ºn°US® PõμoPøÍ 
_¸UP©õP ÂÍUSP. 

15.  (a) List out the benefits of property maintenance. 

   ö\õzx £μõ©›¨¤ß |ßø©PøÍ £mi¯¼kP. 

Or 

 (b) How retail property industry meets the demand of 
customers? Explain. 

   ]À»øÓ ö\õzx öuõÈÀ G¨£i ÁõiUøP¯õÍºPÎß 
÷uøÁø¯ §ºzv ö\´QÓx? ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the different financial sources for buying a 
property. 

 ö\õzøu Áõ[SÁuØPõÚ £À÷ÁÖ {v Buõμ[PøÍ £ØÔ 
ÂÍUSP. 
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17. Enumerate the legal aspects of property management. 

 ö\õzx ÷©»õsø©°ß \mh A®\[PøÍ PnUQkP. 

18. Discuss the merchandise classifications of retail property. 

 ]À»øÓ ö\õzvß ÁoP ÁøP¨£õkPøÍ¨ £ØÔ 
ÂÁõvUP. 

19. Define leasing. Explain the various types of property 
lease. 

 SzuøPø¯ Áøμ¯ÖUP. £À÷ÁÖ ÁøP¯õÚ ö\õzx 
SzuøPPøÍ ÂÍUSP. 

20. Describe the different methods of marketing retail 
property. 

 ]À»øÓ ö\õzøu \¢øu¨£kzxÁuØPõÚ £À÷ÁÖ 
•øÓPøÍ ÂÁ›UP. 

 

 

  

———————— 



  

D–1960     

DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(L.E.)/B.Com.(CA)/ 
B.Com.(CA) (L.E.) DEGREE EXAMINATION,  

DECEMBER 2023. 

Fifth Semester 

COST ACCOUNTING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define cost accounting. 

 AhUPÂø» PnUQ¯ø» Áøμ¯ÖUP. 

2. What is meant by bin card? 

 öuõmi Amøh £ØÔ AÔÁx GßÚ? 

3. Define overtime. 

 ªøP÷|μ® Áøμ¯ÖUP. 

4. What is meant by absorption of overhead? 

 ÷©Øö\»Ä Dº¨¦ £ØÔ AÔÁx GßÚ? 

5. State any two objectives of job costing. 

 AhUP Âø»°¯¼ß H÷uÝ® Cμsk ÷|õUP[PøÍ TÖP. 

6. What is meant by abnormal gain? 

 A\õuõμn »õ£® £ØÔ AÔÁx GßÚ? 

Sub. Code 
10253/12553/
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7. List out the different types of contracts. 

 J¨£¢uzvß £À÷ÁÖ ÁøPPøÍ £mi¯¼kP. 

8. What is meant by batch costing? 

 öuõSv AhUPÂø»°¯À £ØÔ AÔÁx GßÚ? 

9. What is variance analysis? 

 ©õÖ£õk £S¨£õ´Ä GßÓõÀ GßÚ? 

10. What is meant by cost reduction? 

 AhUPÂø» SøÓ¨¦ £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) List out the advantages of cost accounting. 

   AhUPÂø» PnUQ¯¼ß |ßø©PøÍ £mi¯¼kP. 

Or 

 (b) The following transactions took place in respect of a 
material item. 

Date Receipt (quantity) Rate
P. 

Issue (quantity)

02.03.2019 200 2.00 -- 

10.03.2019 300 2.40 -- 

15.03.2019 -- -- 250 

18.03.2019 250 2.60 -- 

20.03.2019 -- -- 200 

  Prepare the stores ledger account using simple 
average price method. 
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   ¤ßÁ¸® |hÁiUøP¯õÚx J¸ ‰»¨ö£õ¸øÍ 
\õº¢ux. 

|õÒ Áõ[Q¯x 
(AÍÄ) 

Ãu® 
(ø£\õ) 

ÁÇ[Q¯x 
(AÍÄ) 

02.03.2019 200 2.00 -- 

10.03.2019 300 2.40 -- 

15.03.2019 -- -- 250 

18.03.2019 250 2.60 -- 

20.03.2019 -- -- 200 

  GÎ¯ \μõ\› Âø» •øÓ°À Qh[S ÷£÷μmk 
PnUøP u¯õ›UP. 

12. (a) What is labour Turnover? What are the causes for 
the labour turnover? 

   EøÇ¨£õÍº ©õÖuÀ GßÓõÀ GßÚ? AuØS›¯ 
Põμn[PÒ ¯õøÁ? 

Or 

 (b) A factory has three production departments A, B 
and C and two service departments S1 and S2. The 
overhead costs of each of the departments are as 
under: 

Departments Costs (Rs.)

A 10,000

B 9,000

C 12,000

S1 6,000

S2 4,000

  The costs of the service departments are to be 
apportioned as under. 
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Departments A B C S1 S2 

S1 30% 20% 30% -- 20%

S2 40% 40% 20% -- -- 

  Compute the overhead costs of each of the 
production departments. 

   J¸ öuõÈØ\õø»¯õÚx A, B ©ØÖ® C GÝ® ‰ßÖ 

EØ£zv xøÓPøÍ²® S1 ©ØÖ® S2 GÝ® Cμsk 
÷\øÁz xøÓPøÍ²® öPõskÒÍx. JÆöÁõ¸ 
xøÓPÐUS® E›¯ ÷©Øö\»ÄPÒ ¤ßÁ¸©õÖ : 

xøÓPÒ ö\»ÂÚ[PÒ 
(¹.) 

A 10,000

B 9,000

C 12,000

S1 6,000

S2 4,000

  ÷\øÁz xøÓ°ß ö\»ÂÚ[PÒ ¤ßÁ¸©õÖ £Qº¢x 
öPõÒÍ £kQÓx. 

xøÓPÒ A B C S1 S2 

S1 30% 20% 30% -- 20%

S2 40% 40% 20% -- -- 

  JÆöÁõ¸ EØ£zv xøÓUS©õÚ ÷©Øö\»ÄPøÍ 
PnUQkP. 

13. (a) Prepare job no. 888 cost account. 

  Raw materials Rs. 3,400 

  Wages 80 hours at Rs. 2.50 

  Variable overheads incurred for all jobs Rs. 5,000 
for 4,000 labour hours. 



D–1960 
  5

   £o Gs 888ß AhUP PnUøP u¯õ›UP. 

  ‰»¨ ö£õ¸ÒPÒ ¹. 3,400 

  T¼ – 80 ©oPÒ ¹. 2.50 Ãu® 

  AøÚzx ÷Áø»PÐUS©õÚ ©õÖ£k® 
÷©Øö\»ÄPÒ – 4,000 EøÇ¨¦ ÷|μzvØS ¹. 5,000. 

Or 

 (b) In process I, 1,000 units of raw materials were 
introduced at Rs. 10 per unit. The other expenses 
incurred in this process were Rs. 600 of the units 
introduced, 10% are normally lost in the course of 
manufacture and its scrap value is sold for Rs. 3 per 
unit. Number of units produced in this process 750. 
Prepare the process account and find abnormal loss. 

   1,000 A»SPÒ ‰»¨ö£õ¸mPÒ, JßÖ ¹. 10 Ãu® 
£i•øÓ JßÔÀ AÔ•P¨£kzu¨£mhx. C¢u¨ 
£i•øÓ°À ö\´u ©ØÓ ö\»ÄPÒ ¹. 600. 
AÔ•P¨£kzu¨£mh A»SPÎÀ 10 \uÃu® \õuõμn 
|mh A»SPÍõS®. PÈ¨¦PÒ A»S JßÖ ¹. 3US 
ÂØ£øÚ ö\´¯¨£kQßÓÚ. C¢u¨ £i•øÓ°À 
EØ£zv ö\´¯¨£mh A»SPÒ 750. £i{ø»U 
PnUS ©ØÖ® A\õuõμn |mhzøuU PshÔP. 

14. (a) The following are the information relating to a 
contract account no. 123 : 

 Rs.  Rs. 

Contract price 6,00,000 Raw materials 1,20,000

Wages 1,64,000 Plant 20,000

General expenses 8,600   

  As on date, cash received was Rs. 2,40,000 being 
80% of work certified. The value of materials 
remaining at site was Rs. 10,000. Depreciate plant 
by 10%. Prepare the contract account. 
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   ¤ßÁ¸® ÂÁμ[PÒ J¨£¢u ÷Áø» 123UPõÚøÁ : 

 ¹.  ¹. 

J¨£¢u öuõøP 6,00,000 ‰»¨ö£õ¸mPÒ 1,20,000

T¼ 1,64,000 C¯¢vμ® 20,000

ö£õxa ö\»ÄPÒ 8,600   

  CßøÓ¯z ÷uv •i¯ ¹. 2,40,000 öμõUP® 
ö£Ó¨£mkÒÍx. CzöuõøP \õßÔuÌ ÁÇ[P¨£mh 
öuõøP°À 80% BS®. CÖv°À 
£¯ß£kzu¨£hõ©À Gg]²ÒÍ ‰»¨ö£õ¸Ò  
¹. 10,000. C¯¢vμzvØS 10% ÷u´©õÚ® GÊu 
÷Ásk®. J¨£¢u PnUøPz u¯õ›UPÄ®. 

Or 

 (b) What are the features of operating costing? 

   C¯UP AhUPÂø»°¯¼ß A®\[PÒ ¯õøÁ? 

15. (a) ABC Ltd  had budgeted the sales for December 
2018. 

Product A : 800 units  @ Rs. 40 per unit

Product B : 1000 units @ Rs. 60 per unit

  The actual sales were : 

Product A : 900 units  @ Rs. 45 per unit

Product B : 1100 units @ Rs. 70 per unit

  The cost per unit of A and B was Rs. 35 Rs. 50 
respectively. 

  Calculate sales variance. 

   ABC {Ö©® i\®£º 2018 AßøÓ¯ vmhªmh 
ÂØ£øÚ ¤ßÁ¸©õÖ : 

ö£õ¸Ò A : 800 A»SPÒ  A»S JßÖUS ¹. 40 Ãu®

ö£õ¸Ò B : 1000 A»SPÒ A»S JßÖUS ¹. 60 Ãu®
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  Esø©¯õÚ ÂØ£øÚ ¤ßÁ¸©õÖ : 

ö£õ¸Ò A : 900 A»SPÒ A»S JßÖUS ¹. 45 Ãu®

ö£õ¸Ò B : 1100 A»SPÒ A»S JßÖUS ¹. 70 Ãu®

  Jº A»QØPõÚ A ©ØÖ® B ö£õ¸Îß AhUPÂø» 
¹. 35 ©ØÖ® ¹. 50 BS®. 

  ÂØ£øÚ ©õÖ£õmøh PõsP. 

Or 

 (b) State the reasons for differences in profits revealed 
by cost and financial accounts. 

   AhUPÂø» PnUQ¯À ©ØÖ® {v{ø»U PnUQ¯À 
öÁÎ¨£kzuUSi¯ C»õ£ ÷ÁÖ£õmiØUPõÚ 
Põμn[PøÍ TÖP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. From the following information, prepare stores ledgers 
under LIFO methods. 

2019 April 1 Opening balance 100 units @ Rs. 12 each

 7 Purchases 1000 units at Rs. 13 per unit 

 8 Purchases 900 units at 14 per unit 

 12 Issue 1100 units 

 15 Issue 500 units 

 20 Purchases 600 units at 12 per unit 

 24 Issue 800 units 

 28 Issue 150 units 
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 RÌUPsh Â£μ[PÎ¼¸¢x \μUS ÷£÷μmøh ¤ßÁ¸£øÁ 
•ß ö\À (LIFO) GßÓ Ai¨£øh°À u¯õ›UPÄ®. 

2016 H¨μÀ 1 öuõhUP C¸¨¦ 100 A»SPÒ JßÖUS ¹. 12

 7 öPõÒ•uÀ 1000 A»SPÒ JßÖUS ¹. 13 

 8 öPõÒ•uÀ 900 A»SPÒ JßÖUS ¹. 14 

 12 öÁÎ±k 1100 A»SPÒ 

 15 öÁÎ±k 500 A»SPÒ 

 20 öPõÒ•uÀ 600 A»SPÒ JßÖUS ¹. 12 

 24 öÁÎ±k 800 A»SPÒ 

 28 öÁÎ±k 150 A»SPÒ 

17. In a factory, there are two service department X and Y 
and three production department A, B, C. In April 2018, 
the departmental expenses were : 

Departments: A B C X Y 

Rs. 6,50,000 6,00,000 5,00,000 1,20,000 1,00,000

 The expenses of the service departments are allocated on 
a percentage basis as follows : 

 A B C I II 

I 30% 40% 15% -- 15%

II 40% 30% 25% 5% -- 

 Prepare a statement showing the distribution of the 
expenses of the two service departments to the 
production departments on the basis of repeated 
distribution method. 

 J¸ öuõÈØ\õø»°À X, Y GßÓ Cμsk÷\øÁz xøÓ²® 
A, B, C GßÓ ‰ßÖ EØ£zv xøÓPÐ® EÒÍÚ. H¨μÀ 
2018 AßÖ xøÓPÐUPõÚ ö\»ÂÚ[PÒ ¤ßÁ¸©õÖ. 

xøÓPÒ: A B C X Y 

¹. 6,50,000 6,00,000 5,00,000 1,20,000 1,00,000
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 ÷\øÁz xøÓ°ß ö\»ÂÚ[PÒ RÌUPsh \uÂQu 
Ai¨£øh°À £Qº¢uÎUP¨£kQßÓÚ. 

 A B C I II 

I 30% 40% 15% -- 15%

II 40% 30% 25% 5% -- 

 ÷\øÁzxøÓ°ß ö\»ÂÚ[PøÍz v¸®£¨ £Qº¢uÎ¨¦ 
•øÓ°À EØ£zv xøÓPÐUS¨ £[Qk® ÁøP°À 
AmhÁøn u¯õº ö\´P. 

18. A product is obtained through three processes. From the 
following particulars, prepare process accounts, abnormal 
profit and loss accounts. 

 Processes 
 I II III 
Materials 2600 1980 2962
Direct wages 2000 3000 4000
Output (in units) 950 840 750 
Normal loss 5% 10% 15% 
Sale of scrap (per unit) Rs. 2 Rs. 4 Rs. 5

 General expenses Rs. 90000. 1000 units at Rs. 3 each 
were introduces in process I. 

 J¸ ö£õ¸Ò ‰ßÖ uÛzuÛ £i•øÓPøÍU Ph¢u ¤ß 
ö£Ó¨£kQÓx. RÌUPsh uPÁÀPÎ¼¸¢x £i•øÓU 
PnUS ©ØÖ® A\õuõμn C»õ£ ©ØÖ® |mhzøuU 
PshÔP. 

 £i•øÓPÒ 

 I II III 
‰»¨ö£õ¸ÒPÒ 2600 1980 2962
÷|μi T¼ 2000 3000 4000
EØ£zv ö\´¯¨£mh A»SPÒ 950 840 750 
\õuõμn |mh® 5% 10% 15% 
 Rs. 2 Rs. 4 Rs. 5

 ö\»ÄPÒ ¹. 9000, 1000 A»SPÒ JßÖ ¹. 3 Ãu® 
£i•øÓ I JßÔÀ AÔ•P¨£kzu¨£mhx. 
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19. Given below are the particulars regarding the 
construction of a building. From this, prepare the 
contract accounts and ascertain the profit to be 
transferred to profit and loss account and the amount to 
be transferred to reserve : 

 Rs. 

Total contract price 2,50,000

Material sent to site 85,000

Labour engaged at site 74,000

Plant installed at site 15,000

Direct expenses 3,160

Establishment charges 4,120

Material returned to stores 550

Value of work certified 1,95,000

Value of work not certified 4,500

Stock of materials (December 31) 1,880

Wages accrued and due (finally) 2,400

Direct expenses accrued (finally) 240

Value of plan (December 31) 11,000

Cash receive from contractee 1,80,000

 R÷Ç öPõkUP¨£mkÒÍøÁ J¸ PmihU Pmk©õÚzvØPõÚ 
J¨£¢u® £ØÔ¯ Â£μ[PÒ. Cv¼¸¢x, J¨£¢uU 
PnUøPz u¯õ›zx, C»õ£ |mhU PnUQØS ©õØÓ 
÷Ási¯ öuõøPø¯²®, Põ¨¤ØS ©õØÓ ÷Ási¯ 
öuõøPø¯²® PnUQkP. 

 ¹. 

ö©õzu J¨£¢u® ©v¨¦  2,50,000

÷Áø»°hzvØS AÝ¨£mh ‰»¨ö£õ¸mPÒ 85,000

÷Áø»°hzvÀ T¼ 74,000

÷Áø»°hzvÀ ö£õ¸zu¨£mh C¯¢vμ® 15,000
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 ¹. 

÷|μia ö\»ÄPÒ 3,160

{ÖÁÚa ö\»ÄPÒ 4,120

‰»¨ ö£õ¸Ò v¸¨¤ GkzxU öPõÒÍ¨£mhx 550

\õßÔuÌ ÁÇ[P¨£h ÷Áø»°ß ©v¨¦ 1,95,000

\õßÔuÌ ÁÇ[P¨£hõu ÷Áø»°ß ©v¨¦ 4,500

‰»¨ö£õ¸Ò C¸¨¦ (i\®£º 31) 1,880

öPõk£h ÷Ási¯ T¼ (CÖv°À) 2,400

öPõk£h ÷Ási¯ ÷|μia ö\»Ä (CÖv°À) 240

C¯¢vμzvß ©v¨¦ (i\®£º 31) 11,000

J¨£¢u¨£mhÁ›h® C¸¢x ö£ØÖU öPõÒÍ¨£mh 
öuõøP 1,80,000

20. From the following particulars prepare (a) a statement of 
cost of manufacture (b) a statement of profit as per cost 
accounts (c) profit and loss account in the financial books 
and (d) reconciliation statement reconciling profit as per 
cost and financial books. 

Particulars Rs. 

Opening stock of raw materials 60,000

Opening stock of finished goods 1,20,000

Purchase of raw materials 3,60,000

Stock of raw materials at the end 90,000

Stock of finished goods at the end 30,000

Wages 1,50,000

 Calculate factory overhead at 25% on prime cost and 
office overhead at 75% on factory overhead. Actual works 
expenses amounted to Rs. 1,16,250 and actual office 
expenses amounted to Rs. 91,500. The selling price was 
fixed at a profit of 20% of the selling price. 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x (A) EØ£zv AhUPÂø» 
£mi¯À (B) AhUP PnUQ¯¼ß £i C»õ£ AÔUøP  
(C) {v{ø» Hmiß £i C»õ£|mh PnUS ©ØÖ® 
AhUPÂø» ©ØÖ® {v{ø» Hmiß £i C»õ£zøu 
\›ö\´²® \›Pmk® £mi¯ø»²® u¯õ›UP. 

ÂÁμ[PÒ ¹. 

PU\õ ö£õ¸ÒPÎß öuõhUP \μUQ¸¨¦ 60,000

CÖv¨ ö£õ¸Îß öuõhUP \μUQ¸¨¦ 1,20,000

Pa\õö£õ¸ÒPÒ Áõ[Q¯x 3,60,000

CÖv°¾ÒÍ Pa\õö£õ¸ÒPÎß ©v¨¦ 90,000

CÖv°¾ÒÍ CÖv¨ö£õ¸ÒPÎß ©v¨¦ 30,000

T¼ 1,50,000

 •ußø© AhUPÂø»°ß «x öuõÈØ\õø» 
÷©Øö\»ÂØPõP 25%•® ©ØÖ® öuõÈØ\õø» 
÷©Øö\»Âß «x A¾Á»P ÷©Øö\»ÂØS 75%•® 
PnUQkP. Eßø©¯õÚ £o ö\»ÄPÒ ¹. 1,16,250 ©ØÖ® 
Esø©¯õÚ A¾Á»P ö\»ÂÚ[PÒ ¹. 91,500 BS®. 
C»õ£©õÚx ÂØ£øÚ Âø»°ß «x 20% PnUQkP. 
ÂØ£øÚ Âø» {ºn°UP¨£kQÓx. 

 

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(L.E.)/B.Com.(CA)/ 
B.Com.(CA)(L.E) DEGREE EXAMINATION,  

DECEMBER 2023. 

Fifth Semester 

PROJECT MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define the term project. 

 vmh® GÝ® £uzøu Áøμ¯ÖUP. 

2. Write a note on project identification process. 

 vmh Aøh¯õÍ ö\¯À•øÓ £ØÔ SÔ¨¦ GÊxP. 

3. State any two characteristics of diversity management. 

 £ÀÁøP ÷©»õsø©°ß H÷uÝ® Cμsk 
]Ó¨¤¯À¦PøÍ u¸P. 

4. What is the difference between PERT and CPM? 

 PERT ©ØÖ® CPM US Cøh÷¯ EÒÍ Âzv¯õ\® GßÚ? 

5. Mention any two  benefits of risk management. 

 Chº ÷©»õsø©°ß H÷uÝ® Cμsk |ßø©PøÍU 
SÔ¨¤kP. 

Sub. Code 
10254/12554/ 
12354/12854
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6. What you mean by value engineering? 
 ©v¨¦ ö£õÔ°¯À £ØÔ }Âº AÔÁx GßÚ? 

7. What is meant by project management information 
system? 

 vmh ÷©»õsø© uPÁÀ Aø©¨¦ £ØÔ AÔÁx GßÚ? 

8. What are the challenges of contract management? 
 J¨£¢u ÷©»õsø©°ß \ÁõÀPÒ ¯õøÁ? 

9. What is project control system? 
 vmh Pmk¨£õmk Aø©¨¦ GßÓõÀ GßÚ? 

10. Write a short note on project close out. 
 vmh ‰hÀ £ØÔ ]Ö SÔ¨¦ GÊxP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Bring out the key responsibilities of project 
manager. 

   vmh ÷©»õÍ›ß •UQ¯ ö£õÖ¨¦UPøÍ öÁÎU 
öPõnºP. 

Or 

 (b) List out the benefits of project planning. 
   ö\´vmh ÁøμÄ vmhzvß |ßø©PøÍ¨ 

£mi¯¼kP. 

12.  (a) State the different types of organizational structure. 
   £À÷ÁÖ ÁøP¯õÚ {ÖÁÚ Pmhø©¨ø£U 

SÔ¨¤kP. 

Or 

 (b) Describe briefly the characteristics of CPM. 

   CPM&ß C¯À¦PøÍ _¸UP©õP ÂÁ›UP. 
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13.  (a) What is project scheduling? Explain the types of 
project schedule. 

   vmh AmhÁøn GßÓõÀ GßÚ? vmh 
AmhÁøn°ß ÁøPPøÍ ÂÍUSP. 

Or 

 (b) State the importance of project quality 
management. 

   vmhz uμ ÷©»õsø©°ß •UQ¯zxÁzøuU 
SÔ¨¤kP. 

14.  (a) Write about the essential features of PMIS. 

   PMIS&ß Azv¯õÁ]¯ C¯À¦PøÍ £ØÔ GÊxP. 

Or 

 (b) Briefly explain the project procurement process. 

   vmh öPõÒ•uÀ ö\¯À•øÓø¯ £ØÔ _¸UP©õP 
ÂÍUSP. 

15.  (a) What is meant by project execution? State its 
objectives. 

   vmhzøu {øÓ÷ÁØÓÀ GßÓõÀ GßÚ? Auß 
÷|õUP[PøÍz u¸P. 

Or 

 (b) What are the reasons for termination of projects? 
Explain. 

   vmh[PÒ {Özu¨£kÁuØPõÚ Põμn[PÒ ¯õøÁ? 
ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the life cycle of a project management in detail. 

 vmh ÷©»õsø©°ß B²Ò _ÇØ]ø¯ Â›ÁõP ÂÁõvUP. 
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17. Explain the objectives and importance of network 
technique. 

 Áø»¯ø©¨¦ ~m£zvß ÷|õUP[PÒ ©ØÖ® 
•UQ¯zxÁzøu ÂÍUSP. 

18. Describe the steps involved in project risk management 
process. 

 vmh Chº ÷©»õsø© ö\¯À£õmiÀ EÒÍ £iPøÍ 
ÂÁ›UP. 

19. Explain the benefits and challenges of performance 
measurement. 

 ö\¯ÀvÓß AÍÃmiß |ßø©PÒ ©ØÖ® \ÁõÀPøÍ 
ÂÍUSP. 

20. Trace out the common features available in the project 
management software. 

 vmh ÷©»õsø© ö©ßö£õ¸ÎÀ EÒÍ ö£õxÁõÚ 
C¯À¦PøÍ PshÔP. 

 

 

  

———————— 
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DISTANCE EDUCATION 

B.Com./B.Com.(Lateral Entry) DEGREE EXAMINATION, 
DECEMBER 2023. 

Sixth Semester 

MARKETING RESEARCH 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is meant by research design? 

 Bμõ´a] ÁiÁø©¨¦ GßÓõÀ GßÚ? 

2. Define marketing research. 

 \¢øu¨£kzuÀ Bμõ´a]ø¯ Áøμ¯ÖUPÄ®. 

3. List out the methods of the data. 

 uμÂß •øÓPøÍ £mi¯¼kP. 

4. What is pre-testing? 

 •ß ÷\õuøÚ GßÓõÀ GßÚ? 

5. What is sampling? 

 ©õv› TöÓkzuÀ GßÓõÀ GßÚ? 

6. What do you mean by hypothesis testing? 

 P¸x÷PõÒ ÷\õuøÚ £ØÔ }Âº AÔÁx GßÚ? 

Sub. Code 
10261/12561
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7. What is descriptive statistics? 
 ÂÍUP ¦ÒÎ°¯À GßÓõÀ GßÚ? 

8. What is univariate analysis? 
 ©õÓõu £S¨£õ´Ä GßÓõÀ GßÚ? 

9. What do you mean by research report? 
 Bμõ´a] AÔUøP GßÓõÀ GßÚ? 

10. Write a short note on pricing research. 
 Âø» Bμõ´a] £ØÔ ]Ö SÔ¨¦ ÁøμP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the nature of market research. 
   \¢øu Bμõ´a]°ß ußø©ø¯ ÂÍUSP. 

Or 

 (b) What is the scope of marketing research? 
   \¢øu¨£kzuÀ Bμõ´a]°ß GÀøPPÒ ¯õøÁ? 

12.  (a) What are the advantages of secondary data? 
   Cμshõ® {ø» uμÄPÎß |ßø©PÒ ¯õøÁ? 

Or 

 (b) What are the types of hypothesis? 
   P¸x÷PõÎß ÁøPPÒ ¯õøÁ? 

13.  (a) What is open ended question? State its merits. 
   vÓ¢x •k® ÷PÒÂ GßÓõÀ GßÚ? Auß 

|ßø©PøÍ u¸P. 

Or 

 (b) Write a short note on quota sampling. 
   JxURk ©õv›TöÓkzuÀ £ØÔ ]Ö SÔ¨¦ ÁøμP. 
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14.  (a) Write about multivariate analysis. 

   £»uμ¨£mh £S¨£õ´Ä £ØÔ GÊxP. 

Or 

 (b) Briefly explain data processing. 

   uμÄ ö\¯»õUPzøu _¸UP©õP ÂÍUSP. 

15.  (a) List out the purpose of research report. 

   Bμõ´a] AÔUøP°ß ÷|õUPzøu £mi¯¼kP. 

Or 

 (b) What are the functions of a research report? 

   Bμõ´a] AÔUøP°ß ö\¯À£õkPÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the different types of marketing research. 

 £À÷ÁÖ ÁøP¯õÚ \¢øu¨£kzuÀ Bμõ´a]ø¯ ÂÍUSP. 

17. Explain the importance of sampling in marketing 
research. 

 \¢øu¨£kzuÀ Bμõ´a]°À ©õv› TöÓkzu¼ß 
•UQ¯zxÁzøu ÂÍUPÄ®. 

18. Explain the process of questionnaire design. 

 ÷PÒÂzuõÒ ÁiÁø©¨¤ß ö\¯À•øÓø¯ ÂÍUSP. 

19. Explain the scope of data preparation. 

 uμÄ u¯õ›¨¤ß GÀø»PøÍ ÂÍUSP. 

20. Discuss the components of research report. 

 Bμõ´a] AÔUøP°ß TÖPøÍ ÂÁõvUPÄ®. 

  

———————— 
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DISTANCE EDUCATION 

B.Com./B.Com.(Lateral Entry) DEGREE EXAMINATION, 
DECEMBER 2023. 

Sixth Semester 

CORPORATE ACCOUNTING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What do you mean by firm underwriting? 

 {ÖÁÚ J¨¦Öv £ØÔ }Âº AÔÁx GßÚ? 

2. What is capital redemption reserve? 

 •u¼Ú «m¦U Põ¨¦ GßÓõÀ GßÚ? 

3. What is dividend? 

 £[Põuõ¯® GßÓõÀ GßÚ? 

4. Define goodwill. 

 |Øö£¯øμ Áøμ¯ÖUP. 

5. What is meant by amalgamation? 

 J¸[Qøn¨¦ £ØÔ AÔÁx GßÚ? 

6. What do you mean by internal reconstruction? 

 EÒ ©ÖAø©¨¦ £ØÔ }Âº AÔÁx GßÚ? 

Sub. Code 
10262/12562
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7. What is capital reduction? 

 •u¼Ú SøÓ¨¦ GßÓõÀ GßÚ? 

8. What is holding company? 

 ¤i¨¦ {Ö©® GßÓõÀ GßÚ? 

9. What is statutory reserve? 

 \mh•øÓU Põ¨¦ GßÓõÀ GßÚ? 

10. What is responsibility accounting? 

 ö£õÖ¨¦ PnUQ¯À GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What entries can be made for following redemptions 
made by the company? 

  (i) X Ltd redeemed Rs. 1,00,000 preference 
shares by converting them into equity shares 
of Rs. 10 each issued at 25% premium. 

  (ii) X Ltd redeemed Rs. 95,000 preference shares 
by converting them into equity shares of  
Rs. 10 each issued at 5% discount. 

   J¸ P®ö£Û¯õÀ «mP¨£mh ¤ßÁ¸® £[SPÐUS 
GzuøP¯ £vÄPøÍ ÷©ØöPõÒÁõ´? 

  (i) X {Ö©® ¹. 1,00,000 •ßÝ›ø© £[SPøÍ 
¹. 10 Ãu® 25% •øÚ©zvÀ ö£õx{ø» 
£[SPÍõP ©õØÔ¯x. 

  (ii) X {Ö©® ¹. 95,000 •ßÝ›ø© £[SPøÍ  
¹. 10 Ãu® 5% uÒÐ£i°À ö£õx{ø» 
£[SPÍõP ©õØÔ¯x. 

Or 
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 (b) On 1st January 2017 a company issued Rs. 2,00,000, 
14% debentures at 5% discount repayable in five 
years at par. The interest is payable half yearly on 
30th June and 31st December and the same was duly 
paid. 

  On 31st December 2017 the company purchased  
Rs. 20,000 debentures at a cost of Rs. 18,900. Pass 
necessary journal entries in the books of the 
company upto 31st December 2017, including closing 
entries on the date if the above redemption was out 
of profit. 

   01.01.2017 AßÖ J¸ {Ö©® ¹. 2,00,000, 14% 
PhÜmk £zvμzøu 5 Á¸h® PÈzx •P©v¨¤À 
ö\¾zxÁuØS 5% uÒÐ£i°À öÁÎ°mhx, 
Ámi¯õÚx áúß ©õu CÖv°¾®, i\®£º ©õu 
CÖv°¾® ö\¾zu¨£h ÷Ásk®. 

  31.12.2017 AßÖ AUP®ö£Û¯õÚx ¹. 20,000 
©v¨¦ÒÍ PhÜmk £zvμzøu ¹. 18,900US 
Áõ[Q¯x. ÷©ØTÔ¯ PhÜmk¨£zvμ©õÚx 
C»õ£zvÀ «mP¨£mhx GÚU öPõsk 31.12.2017 
Áøμ°»õÚ SÔ¨÷£mk £vÄPøÍ u¸P. 

12. (a) X Ltd has earned Rs. 3,00,000 profit on 31.12.2017 
which is appropriate as follows : 

  (i) Rs. 25,000 towards debenture redemption 
fund 

  (ii) 8% preference dividend (tax free), tax being 
20% on Rs. 3,30,000 

  (iii) 10% ordinary dividend, tax being 20% on 
10,00,000 

  (iv) Rs. 37,000 to general reserve 

  (v) Balance to be carried forward; prepare profit 
and loss appropriation a/c.  
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   31.12.2017 AßÖ X {Ö©® Dmi¯ ¹. 3,00,000 
ö£Ö©õÚ C»õ£zøu ¤ßÁ¸©õÖ £Qº¢ux. 

  (i) PhÜmk¨£zvμzøu «m¦ {vUS ¹. 25,000 
JxUP ÷Ásk®. 

  (ii) 8% •ßÝ›ø© £[Põuõ¯® (Á› }[P»õP),  
¹. 3,30,000 – 20% Á›. 

  (iii) 10% \õuõμn £[Põuõ¯® (Á› }[P»õP),  
¹. 10,00,000 – 20% Á›. 

  (iv) ö£õxPõ¨¤ØS ¹. 37,000 ©õØÓ ÷Ásk®. 

  (v) «u•ÒÍ öuõøPø¯ Akzu BskUS ©õØÓ 
÷Ásk®. 

   C»õ£ |mh £QºÄ PnUøP u¯õ›UP. 

Or 

 (b) Explain the various methods of valuation of shares. 

   £[SPøÍ ©v¨¤kÁvß £À÷ÁÖ •øÓPøÍ 
ÂÍUSP. 

13. (a) Distinguish between absorption and external 
reconstruction. 

   Dº¨¦ ©ØÖ® ¦Ó ©Ö Aø©¨ø£ J¨¤kP. 

Or 

 (b) Balances sheet as on 31.03.2016 was as follows : 

Liabilities P  Q Assets P Q 

Share capital 24,000 10,000 Sundry assets 42,000 20,000

Reserve 10,000 2,000 10,000 shares in Q Ltd 13,000 –

Profit and loss account 4,000 2,000  

Sundry creditors 17,000 6,000  

 55,000 20,000  55,000 20,000
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  Share were acquired by P Ltd. on 30th September 
2015. Q Ltd. transferred Rs. 1,000 from profits to 
reserve on 31.03.2016. Prepare consolidated balance 
sheet. 

   31.03.2016 |õøÍ¯ C¸¨¦{ø»SÔ¨¦ ¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ P  Q ö\õzxUPÒ P Q 

£[S •uÀ 24,000 10,000 £ÀÁøP 
ö\õzxUPÒ 

42,000 20,000

Põ¨¦ 10,000 2,000 Q {Ö©zuÀ 5,000
£[SPÒ 13,000 –

C»õ£|mh PnUS 4,000 2,000  

£ÀÁøP 
PhÜ¢÷uõºPÒ 

17,000 6,000  

 55,000 20,000  55,000 20,000

  ö\¨h®£º 30, 2015À P ¼m £[SPøÍ Áõ[Q¯x. Q 
{Ö©® C»õ£zv¼¸¢x ¹. 1,000 31.03.2016 AßÖ 
Põ¨¦ PnUQØS ©õØÓ¨£mhx. J¸[Qøn¢u 
C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®. 

14. (a) Arul Ltd went into liquidation with following 
liabilities. 

  (i) Secured creditors Rs. 22,000 (securities 
realized Rs. 27,000) 

  (ii) Preferential creditors Rs. 1,000 

  (iii) Unsecured creditors Rs. 30,800. 

   Liquidation expenses amounted to Rs. 300. He 
is entitled to a remuneration of 3% on the 
amounts realized (including securities with 
creditors) and 1½% on the amount paid to 
unsecured creditors. The various assets 
(excluding securities with creditors) realized 
amount of Rs. 26,500. Prepare the liquidator’s 
final statement of account. 
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   ¤ßÁ¸® ö£õÖ¨¦PÐhß A¸Ò {Ö©® 

Pø»UP¨£kQßÓÚ. 

  (i) ¤øn¯•ÒÍ PhÜ¢÷uõº ¹. 22,000 

(¤øn¯[PøÍ ÂØÓx ¹. 27,000) 

  (ii) •ßÝ›ø© PhÜ¢÷uõºPÒ ¹. 1,000 

  (iii) ¤øn¯ªÀ»õ PhÜ¢÷uõõPÒ ¹. 30,800 

   Pø»¨¦a ö\»Ä ¹. 300 BS®. ö\õzxUPøÍ 

ÂØÓvÀ 3%•® (PhÜ¢÷uõ¸hß Ti¯ 

¤øn¯[PÒ ÷\ºzx) ©ØÖ® ¤øn¯ªÀ»õ 

PhÜ¢÷uõ¸US ö\¾zv¯ öuõøP°À 1½% •® 

Fv¯® ö£ÓPø»¨£õÍ¸US E›ø© Esk. 

ÂØP¨£mh ö\õzxUPÎß ©v¨¦ ¹. 26,500 

(PhÜ¢÷uõ¸hß Ti¯ ¤øn¯[PÒ uÂμ). 

Pø»¨£õÍ›ß CÖv PnUøP Põmk® 

£mi¯ø» u¯õº ö\´P.  

Or 

 (b) The trial balance of National bank Ltd as on  

31st March 2017 shows the following prepare profit 

and loss account. 

 (Rs. in ‘000)  (Rs. in ‘000)

Interest earned 10,10,000 Other income 1,25,000

Interest expended 4,15,000 Operating expenses 1,65,000

Retained profit on 1st April 2016 1,00,000  

  Bad debts written off amounted to Rs. 55,000; 

provision for taxation to be made at 50%. 



D–1963 

 

  7

  31 ©õºa 2017 AßøÓ¯ ÷|åÚÀ Á[Q {Ö©zvß 
C¸¨£õ´Ä ¤ßÁ¸£ÁÚÁØøÓ Põmi¯x. 
Cv¼¸¢x C»õ£ |mhU PnUS u¯õ›UP. 

 (¹£õ´ 
B°μzvÀ) 

 (¹£õ´ 
B°μzvÀ) 

Dmi¯ Ámi 10,10,000 Cuμ Á¸©õÚ® 1,25,000
Ámi ö\¾zv¯x 4,15,000 ö\¯À£õmk 

ö\»ÄPÒ 1,65,000
1 H¨μÀ 2016 AßÖ 
uUPøÁzu C»õ£® 

 
1,00,000 

 

  ÁõμõPhß ÷£õUöPÊv¯x ¹. 55,000, Á¸©õÚ Á› 
JxUS 50% E¸ÁõUSP. 

15. (a) From the following particulars prepare the fire 
insurance revenue account for 2017-2018. 

Particulars Rs. Particulars Rs. 
Claims paid 2,40,000 Provision for unexpired risk on 

01.04.2014 2,60,000
Premium received 6,00,000 Claims unpaid on 01.04.2017 20,000
Re-insurance 
premium 

 
60,000 

Claims unpaid on 31.03.2018 35,000

Commission 1,00,000 Expenses 1,50,000

  Make provision against unexpired risk at the end of 
the year at 50% of net premium. 

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x 2017 •uÀ 2018 
Áøμ°»õÚ Põ»zvØS w Põ¨¥mk PnUøu u¯õº 
ö\´P. 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 
÷Põ›UøP 
ö\¾zv¯x 

 
2,40,000 

Gvº£õμõu CÇ¨¤ØPõÚ 
JxUS (01.04.2014) 2,60,000

•øÚ©® 
ö£ØÓx 

6,00,000 ö\¾zu¨£hõu ÷Põ›UøP 
(01.04.2017) 

20,000

©Ö Põ¨¥mk 
•øÚ©® 

 
60,000 

ö\¾zu¨£hõu ÷Põ›UøP 
(31.03.2018) 35,000

uμS 1,00,000 ö\»ÄPÒ 1,50,000

  Bsk CÖv°À Gvº£õμõu CÇ¨¤ØPõÚ JxUS 
{Pμ •øÚ©zvÀ 50% E¸ÁõUSP. 

Or 
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 (b) Briefly explain any three methods which are used 

for valuation of human resource. 

   ©Ûu ÁÍzøu ©v¨¤kÁuØS £¯ß£kzuUTi¯ 

•øÓPÎÀ H÷uÝ® ‰ßÔøÚ _¸UP©õP ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. A limited company was incorporated with an authorized 

capital of Rs. 2 lakhs divided into 20,000 equity shares of 

Rs. 10 each. The company issued 10,000 equity shares at 

a premium of Rs. 2 per share payable as to Rs. 2 on 

application, Rs. 5 (including premium) on allotment, Rs. 3 

on first call and Rs. 2 on final call. Applications were 

received for 15,000 shares. The directors made the 

allotment as follows : 

 To applicants of 3,000 shares, the allotment was refused 

and to the remaining applicants allotment was made pro-

rata. Money paid in excess on application was adjusted 

towards the sum due on allotment. All the shareholders 

except that of the following paid the above calls on the 

due date. 

 Manak, a shareholder to whom 2,000 shares were allotted 

failed to pay the allotment money and on his subsequent 

failure to pay the first call money, his shares were 

forfeited. The forfeited shares were re-issued to Rajan as 

fully paid for Rs. 9 per share. Give journal entries to 

record these transactions. 



D–1963 

 

  9

 J¸ Áøμ¯ÖUP¨£mh {Ö©©õÚx TmkÖÁõUP® ö£ØÓx 
20,000 ö£õx{ø» £[SPÒ JßÖ ¹. 10 Ãu®  
¹. 2,00,000 ö£Ö©õÚ A[RP›UP¨£mh •uø» 
Áøuzv¸¢ux. AUP®ö£Û¯õÚx 10,000 ö£õx{ø» 
£[SPøÍ ¹. 2 •øÚ©zvÀ öÁÎ°mhx. 
Âsn¨£zvß ÷£õx ¹. 2® JxURmiß ÷£õx ¹. 5® 
(•øÚ©® ÷\ºzx) •uÀ AøÇ¨¤ß ÷£õx ¹. 3® CÖv 
AøÇ¨¤ß ÷£õx ¹. 2® ö\¾zu ÷Ásk®. 15,000 
£[SPÐUPõÚ Âsn¨£[PÒ ö£Ó¨£mhÚ. C¯US|ºPÒ 
JxURmøh ¤ßÁ¸©õÖ ÷©ØöPõshÚº. 

 3,000 £[SPÐUPõÚ Âsn£[PÒ {μõP›UP¨£mhÚ 
«u•ÒÍ £[SPÍõÚx ÂQuõ\õμ Ai¨£øh°À JxURk 
ö\´¯¨£mhÚ. AvP©õP ö£Ó¨£mh Âsn¨£n® 
HøÚ¯ £[SuõμºPÒ AøÚÁ¸® öuõøPø¯ ö\¾zvÚº. 

 ÷©ÚU GßÓ J¸ £[Suõμ¸US 2,000 £[SPÒ JxUQ¯vÀ 
JxURmk £n® ©ØÖ® •uÀ AøÇ¨¦ £nzøu²® 
ö\¾zu uÁÔÂmhõº. GÚ÷Á AÁ¸øh¯ £[SPÒ 
£Ô•uÀ ö\´¯¨£mhx. 

 £Ô•uÀ ö\´¯¨£mh £[SPÒ μõáß Gß£Á¸US £[S 
JßÖ ¹. 9 Ãu® ©ÖöÁÎ±k ö\´¯¨£mhx. ÷©ØS›¯ 
|hÁiUøPPøÍ £vÄ ö\´¯ SÔ¨÷£mk £vÄPøÍ u¸P.   

17. The following is the trial balance of Sugan Ltd as on 
31.03.2018. 

 Debit 
(Rs.) 

Credit 
(Rs.) 

Stock on 01.04.2017 7,500

Sales and purchases 24,500 35,000

Wages 5,000

Discounts 800 500

Salaries 650

Rent 500

Insurance 1,700

Profits and loss a/c (2016-17) - 1,500

Dividend paid 900
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 Debit 
(Rs.) 

Credit 
(Rs.) 

Capital (Rs. 10 each) - 10,000

Creditors and debtors 3,750 1,750

Machinery 2,900

Bank balance 1,680

Reserve - 1,550

Bad debts 420

 50,300 50,300

 Adjustments : 

 (a) Stock on 31.03.2018 Rs. 8,000 

 (b) Provide depreciation on machinery at 20% 

 (c) Provide 5% discount on debtors and 2½% on 
creditors 

 (d) Six months insurance was unexpired.  

 Prepare profit and loss account for the year ended 
31.03.2018 and Balance Sheet on that date.  

 31.03.2018 AßøÓ¯ _Pß {Ö©zvß C¸¨£õ´Ä 
¤ßÁ¸©õÖ : 

 £ØÖ (¹.) ÁμÄ (¹.)

01.04.2017 AßøÓ¯ \μUQ¸¨¦ 7,500

ÂØ£øÚ ©ØÖ® öPõÒ•uÀ 24,500 35,000

T¼ 5,000

uÒÐ£i 800 500

Fv¯® 650

ÁõhøP 500

Põ¨¥k 1,700
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 £ØÖ (¹.) ÁμÄ (¹.)

C»õ£ |mhU PnUS(2016&-17) - 1,500

£[Põuõ¯® ö\¾zv¯x 900

•uÀ (¹. 10 Ãu®) - 10,000

PhÜ¢÷uõº ©ØÖ® PhÚõÎPÒ 3,750 1,750

C¯¢vμ® 2,900

Á[Q C¸¨¦ 1,680

Põ¨¦ - 1,550

ÁõμõU Phß 420

 50,300 50,300

 TkuÀ ÂÁμ[PÒ : 
 (A) 31.03.2018 AßøÓ¯ \μUQ¸¨¦ ¹. 8,000 
 (B) C¯¢vμzvß «x 20% ÷u´©õÚ® }USP 

 (C) PhÚõÎPÎß «x 5%•®, PhÜ¢÷uõº «x 2½% •® 
uÒÐ£® E¸ÁõUSP.   

 (D) 6 ©õu Põ¨¥k •ßTmi ö\¾zu¨£mhx. 
  31.03.2018 AßÖ C»õ£ |mhU PnUS ©ØÖ® 

A¢|õøÍ¯ C¸¨¦ {ø»USÔ¨ø£²® u¯õº ö\´P. 

18. The following is the balance sheet of Weak & Co. as on 
31.03.2018. 

Liabilities Rs. Assets Rs. 

1,00,000 equity shares of Rs. 10 each 10,00,000 Land 1,00,000 

Sundry creditors 1,73,000 Plan and machinery 2,30,000 

  Furniture and fittings 68,000 

  Stock 1,50,000 

  Debtors 70,000 

  Cash at bank 5,000 

  P and L a/c 5,50,000 

 11,73,000  11,73,000 
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 Scheme of capital reduction was : 

 (a) The equity shares to be reduced to Rs. 4 per share 

 (b) Plant and machinery to be written down to  
Rs. 1,50,000 

 (c) Stock to be revalued at Rs. 1,40,000 

 (d) The provision on debtors for doubtful debts to be 
created Rs. 2,000 

 (e) Land to be revalued at Rs. 1,42,000. 

 Pass journal entries to give effect to the above 
arrangement and also prepare reconstruction account. 

 31.03.2018&À ÃU & ÷PõÂß C¸¨¦{ø»U SÔ¨¦ 
¤ßÁ¸©õÖ : 

ö£õÖ¨¦UPÒ ¹. ö\õzxUPÒ ¹. 

1,00,000 \õuõμn 
£[SPÒ ¹. 10 Ãu® 

 
10,00,000 

{»® 1,00,000

£Ø£» PhÜ¢÷uõºPÒ 1,73,000 ö£õÔ, C¯¢vμ® 2,30,000

  AøÓP»ß ©ØÖ® 
ö£õ¸zxPÒ 68,000

  \μUQ¸¨¦ 1,50,000

  PhÚõÎPÒ 70,000

  Á[Q°¸¨¦ 
öμõUP® 5,000

  C»õ£&|mh P/S 5,50,000

 11,73,000  11,73,000

 ‰»uÚ SøÓ¨¤ß vmh® ¤ßÁ¸©õÖ : 

 (A) \õuõμn £[S JßÖ ¹. 4&US SøÓUP¨£mhx. 

 (B) ö£õÔ ©ØÖ® C¯¢vμ® ¹. 1,50,000&US 
SøÓUP¨£mhx. 

 (C) \μUQ¸¨¦ ¹. 1,40,000&US ©Ö©v¨¥k 
ö\´¯¨£mhx. 
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 (D) PhÚõÎPÒ «x ¹. 2,000 ÁμõUPhß Põ¨¦ JxUSP. 

 (E) {»® ¹. 1,42,000&US ©Ö©v¨¥k ö\´¯¨£mhx. 

  ÷©ØS›¯ HØ£õkPøÍ PnUQÀ öPõsk 

SÔ¨÷£mk¨ £vÄPøÍ²® ©Ö Aø©¨¦ 

PnUøP²® u¯õ›UPÄ®. 

19. From the balance sheet given below prepare a 

consolidated balance sheet of A Ltd. and its subsidiary 

company B Ltd. 

 Balance sheets as on 31st March, 2016 

Liabilities A Ltd. 

Rs. 

 B Ltd. 

Rs. 

Assets A Ltd.

Rs. 

B Ltd.

Rs. 

Share capital :    Land and 

building 6,40,000 2,00,000

Shares of Rs. 10 

each 25,00,000

 

6,00,000

Machinery 12,60,000 3,40,000

General reserves 3,60,000  1,20,000Furniture 1,40,000 60,000

Profit and loss a/c 2,40,000  1,80,00040,000 shares in

B Ltd 5,00,000 --

Trade creditors 3,50,000  1,00,000Stock in had 4,10,000 2,50,000

    Debtors 3,80,000 1,00,000

    Bank balance 1,20,000 50,000

 34,50,000  10,00,000 34,50,000 10,00,000

 At the date of acquisition of A Ltd of its holding of 40,000 

shares in B Ltd, the latter company had undistributed 

profits and reserves amounting to Rs. 1,00,000, none of 

which has been distributed since then. 
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 ¤ßÁ¸® C¸¨¦{ø» SÔ¨¤¼¸¢x A {Ö©® ©ØÖ® 
AuÝøh¯ xøn P®ö£Û¯õÚ B {Ö©zvß 
J¸[Qøn¢u C¸¨¦{ø»SÔ¨ø£ u¯õº ö\´P. 

31.03.2016 AßøÓ¯ C¸¨¦ {ø» SÔ¨¦ 

ö£õÖ¨¦PÒ A {Ö©® 
¹. 

 B {Ö©® 
¹. 

ö\õzxPÒ A {Ö©® 
¹. 

B {Ö©® 
¹. 

£[S •uÀ :    {»® ©ØÖ® 
Pmih® 6,40,000 2,00,000

£[S JßÖ 
¹. 10 Ãu® 25,00,000 6,00,000

C¯¢vμ[PÒ12,60,000 3,40,000

ö£õx Põ¨¦ 3,60,000 1,20,000AøÓP»ß 1,40,000 60,000
C»õ£ |mh 
PnUS 2,40,000 1,80,000

40,000 

£[SPÒ (B 
{Ö©zvÀ) 5,00,000 --

ÁoP 
PhÜ¢÷uõºPÒ 3,50,000 1,00,000

\μUQ¸¨¦ 4,10,000 2,50,000

    PhÚõÎPÒ 3,80,000 1,00,000

    Á[Q°¸¨¦ 1,20,000 50,000

 34,50,000 10,00,000 34,50,000 10,00,000

 A {Ö©® 40,000 £[SPøÍ B {Ö©zvÀ Áõ[Q¯ 
÷uv¯ßÖ B {Ö©zvÀ £Qº¢uÎUP¨£hõu C»õ£® ©ØÖ® 
Põ¨¦ ¹. 1,00,000 C¸¢ux Ax Áøμ Cuμ C»õ£® ©ØÖ® 
Põ¨¦ £Qº¢uÎUP¨£mhÂÀø». 

20. What are the advantages and disadvantages of IFRS? 

 IFRS&ß |ßø©PÒ ©ØÖ® wø©PÒ ¯õøÁ? 

 

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(L.E.)/ 
B.Com.(CA)/B.Com.(CA)(L.E.) DEGREE EXAMINATION, 

DECEMBER 2023. 

Sixth Semester 

ENTREPRENEURSHIP DEVELOPMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is innovation? 

 ¦zuõUP® / ¦xø© GßÓõÀ GßÚ? 

2. Define entrepreneur. 

 öuõÈÀ •øÚ÷Áõøμ Áøμ¯ÖUPÄ®. 

3. What is feasibility study? 

 \õzv¯U TÖ B´Ä GßÓõÀ GßÚ? 

4. Expand SISI. 

 SISI Â›ÁõUPÄ®. 

5. What is Franschising? 

 E›©® GßÓõÀ GßÚ? 

6. Write the meaning of family enterprise. 

 Sk®£ {ÖÁÚ® Gß£vß ö£õ¸øÍ GÊxP. 

Sub. Code 
10263/12563/
12363/12863
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7. What is seedcapital assistance? 

 Bμ®£ ‰»uÚ EØ£zv GßÓõÀ GßÚ? 

8. Mention the types of risk. 

 A£õ¯ ÁøPPøÍ SÔ¨¤kP. 

9. State the purposes of project report. 

 vmh AÔUøP°ß ÷|õUPzøu SÔ¨¤kP. 

10. What is industrial sickness? 

 öuõÈÀ •hUP® GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Bring out the characteristics of entrepreneurs. 

   öuõÈÀ •øÚ÷Áõ›ß ]Ó¨¤¯À¦PÒ öPõn¸P. 

Or 

 (b) Write the functions of DIC. 

   DIC&ß £oPøÍ GÊxP. 

12.  (a) What do you mean by technology feasibility and 
economic feasibility? 

   öuõÈÀ ~qUP Áõ´¨¦ GÎø© ©ØÖ® ö£õ¸Íõuõμ 
Áõ´¨¦ GÎø© GßÓõÀ GßÚ? 

Or 

 (b) Explain the classification of the project. 

   vmhzvß ÁøP¨£õmøh ÂÍUSP. 
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13.  (a) Write the characteristics of a successful business 
plan. 

   öÁØÔPμ©õÚ ÁoPzvmhzvß £s¦PøÍ GÊxP. 

Or 

 (b) What are the problems of small industries in India? 

   C¢v¯õÂÀ EÒÍ ]Ö öuõÈÀPÎß ¤μa\øÚPÒ 
GßÚ? 

14.  (a) Explain the sources of innovation. 

   ¦xø©°ß Buõμ[PøÍ / ‰»uÚzøu ÂÍUSP. 

Or 

 (b) How are political and legal forces affecting the 
entrepreneurship? 

   öuõÈÀ •øÚ÷Áõøμ G¨£i Aμ]¯À ©ØÖ® \mh 
`Ì{ø» \UvPÒ £õvUQßÓx? 

15.  (a) What are the issues in family business? 

   Sk®£ Â¯õ£õμzvÀ EÒÍ ¤μa\øÚPÒ ¯õøÁ? 

Or 

 (b) Explain the causes of industrial sickness. 

   öuõÈÀxøÓ •hUPzvß Põμn[PøÍ ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the phases of EDP. 

 EDP°ß {ø»¨£õmøh ÂÍUSP. 

17. What are the methods of generating ideas? 

 Gsn® E¸ÁõUSu¼ß •øÓPÒ ¯õøÁ? 
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18. Describe the process of risk management. 

 Chº ÷©»õsø© ö\¯À•øÓø¯ ÂÍUSP. 

19. Comment on “creativity and innovation”. 

 P¸zx öu›ÂUPÄ® ‘‘£øh¨£õØÓÀ ©ØÖ® ¦zuõUP®’’. 

20. Briefly explain family management practices in India. 

 C¢v¯õÂÀ Sk®£ ÷©»õsø© |øh•øÓPøÍ _¸UP©õP 
ÂÍUPÄ®. 
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DISTANCE EDUCATION 

B.Com./B.Com.(Lateral Entry) DEGREE EXAMINATION, 
DECEMBER 2023. 

Sixth Semester 

MANAGEMENT INFORMATION SYSTEM 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Write the importance of MIS. 

 MIS Cß •UQ¯zxÁzøu GÊxP. 

2. What is systems analysis? 

 Aø©¨¦ £S¨£õ´Ä GßÓõÀ GßÚ? 

3. What is MIS planning? 

 MIS vmhªhÀ GßÓõÀ GßÚ? 

4. Mention the basics of ERP. 

 ERP °ß Ai¨£øhPøÍU SÔ¨¤kP. 

5. Write the benefits of enterprise systems. 

 {ÖÁÚ Aø©¨¦PÎß |ßø©PøÍ GÊxP. 

6. Write the meaning of E-communication. 

 ªßöuõhº¦ Gß£uß ö£õ¸øÍ GÊxP. 

Sub. Code 
10264/12564
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7. What is operational level planning? 

 ö\¯À£õmk {ø» vmhªhÀ GßÓõÀ GßÚ? 

8. Elaborate DSS. 

 DSS Â›ÁõUSP. 

9. State the types of database users. 

 uμÄzuÍ £¯ÚºPÎß ÁøPPøÍU SÔ¨¤kP. 

10. Define intranet. 

 AP Cøn¯® Áøμ¯Ö. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain MIS categories. 

   MIS ÁøPPøÍ ÂÍUSP. 

Or 

 (b) Comment on “Hardware support for MIS”. 

   MISCß Áßö£õ¸Ò BuμÄ £ØÔ P¸zx TÖP. 

12.  (a) Write the differences between planning and control 
information. 

   vmhªhÀ ©ØÖ® Pmk¨£õmk uPÁÀPÐUS 
Cøh÷¯ EÒÍ ÷ÁÖ£õkPøÍ GÊxP. 

Or 

 (b) Write short notes on systems design. 

   ‘‘Aø©¨¦ ÁiÁø©¨¦’’ £ØÔ ]ÖSÔ¨¦ GÊxP. 
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13.  (a) Explain “Object oriented methodology”. 

   ‘‘ö£õ¸Ò \õº¢u •øÓ’’ ÂÍUSP. 

Or 

 (b) Describe economic and behaviour theories. 

   ö£õ¸Íõuõμ ©ØÖ® |hzøu ÷Põm£õmøh ÂÍUSP. 

14.  (a) What are the challenges of enterprise systems? 

   {ÖÁÚ Aø©¨¤ß \ÁõÀPÒ GßÚ? 

Or 

 (b) Describe “Artificial intelligence”. 

   ‘‘ö\¯ØøP AÔÄ vmh®’’ ÂÍUSP. 

15.  (a) Explain the concept of extranet. 

   ¦ÓU÷PõÒ £ØÔ ÂÍUSP. 

Or 

 (b) What is strategic management information system? 

   ‰÷»õ£õ¯ ÷©»õsø© uPÁÀ Aø©¨¦ GßÓõÀ 
GßÚ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the structure of management information 
system. 

 MISCß Pmhø©¨ø£ ÂÍUSP. 

17. Elaborate the concept MIS at management levels. 

 ÷©»õsø© ©mhzvÀ MIS £ØÔ ÂÁ›UPÄ®. 
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18. Explain the types of database users. 

 uμÄzuÍ £¯ÚºPÎß ÁøPPøÍ ÂÍUSP. 

19. Explain the trends in MIS. 

 MIS CÀ EÒÍ ÷£õUSPøÍ ÂÍUSP. 

20. What are the technical solutions for primary protection? 

 uÛ²›ø© £õxPõ¨¤ØPõÚ öuõÈÀ~m£ wºÄPÒ ¯õøÁ? 
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